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I. Mark A,B,C or D to indicate the word whose main stress differs from the rest.              
    1. A. consider



B. volunteer



C. entertain




D. comprehend
             

    2. A. effective




B. relative



C. creative



   D. deposit
             

    3. A. character



B. institute



C. courageous


   D. internet
             

    4. A. certificate


B. compulsory



C. eradicate


 
D. automatic
             

    5. A. athletic



B. agency



C. advertise


  
D. celebrate


II. Mark A,B,C or D to indicate the word whose main stress differs from the rest.              
  6. Unless we take immediate precautions, we‘ll not be able to ________ the epidemic.


A. surround



B. contain



C. hold



D. get away 

  7. I can’t _________ of a word he is saying.


A. comprehend


B. understand


C. grasp



D. make sense
  8. Although the hours are longer, John earns more in his new job.


A. gets on



B. brings in




C. makes out


D. takes up
    

  9. ____________  you to be offered that job, would you have to move to another city?
      
A. Provided that
B. Should
C. Were
D. Had (đảo ngữ ĐK loại 2)

  10. After her mother died, she was raised by her grandparents.


A. grown up



B. brought up


C. come into

       D. put up
   

  11. Jump in the car. There’s enough ______ for you.


A. room



B. place




C. space



D. chair
            

  12. I believe the Danish language is very difficult to pick ______ quickly.


A. on


B. in




C. up



D. for 

  13. Some fish can survive in salt water, __________ other species can live only in fresh water.

       A. where



B. as long as


C. whereas

 
D. since


  14. It is time every student _________work harder for the coming exam..


A. has to



B. had to 


C. must 


D. should
                   

  15. The concert was ____________ because of the heavy rain.


A. put out



B. called off


C. run out


D. set off


  16. It was cold and wet. _________ Bob put on his swimming suit and went to the beach.

     
A. Although



B. Therefore


C. Moreover

D. Nevertheless
  17. Instead of being excited about the good news, Ted seemed to be ____________.


A. ignorant



B. indifferent


C. unlikely


D. unexpected


  18. The only people she looks ____ to are her parents.



A. after



B. for



C. at



D. up
  19. The doctor who is _______ tonight in the general hospital is Mr. Brown.


A. on turn 


B. on tour


C. on call


D. on work

  20. If you want to get better, do exactly _________ your doctor tells you.


A. like


B. the same




C. as



D. alike 

  21. The window was so high that ________ I could see was the sky. 


A. which


   B. just 




C. all




D. there

  22. ___________ broken into when we were away on holiday.


A. It was our house




B. We had our house  (Causetive Form)



C. Thieves had our house


D. Our house had

  23. Police believe that there is a _______ between two crimes.


A. connector



 B. relation




C. chain



D. link
 

  24. Conservationists ______________ that experiments on animals be stopped.

      A. banned



 B. complained



C. said



D. recommended                                                                                                                                                                                                                                                                                                                                                                                                                                                                25. ____________ the noise and pollution in the city, the Browns move to the countryside.

A. Be tired of
 
B. Being tired of


C. Tired of
 

D. Were tired of 

  26. The company has just got a big order and the workers are working around the_________.


A. night
B. day
C. hour
D. clock 

  27. It took me 10 years to _________ enough money to travel around the country.


A. .set out

 

B. put away


C. put by


D. save aside

  28. The ground is wet. It _______________ rained last night.


A. must

B. must have

C. may have

D. might have

  29. ___________ members of my family has a share in doing household chores.


A. Every
B. Each of the
C. All


 D. None of

  30. I don’t like John. His _________ complaints make me angry.


A. continual


B. continuous

C. constant

D. permanent

III. Read the following passage and mark the letter A, B, C, or D to indicate the correct word for each of the blanks from 31 to 40. 

Health is something we tend to (31) _______ when we have it. When our body is doing well, we are hardly (32) ________ of it. But illness can come, even (33) _______ we are young. In fact, childhood has been a very susceptible time. Many diseases attack children in particular, and people know very little (34) ______ to cure them once they struck. The result was that many children died. About a century ago, (35) _________, scientists found out about germs, and then everything changed. The (36) _____ of many diseases was found, and cures were developed. As this medical discovery spread, the world became (37) _____ safer for children. The result is that (38) _________ a hundred years ago, the average man lived for 35 years, nowadays, in many areas of the world, people can (39) _______ to live for 75 years. And what do we expect by the year 2020 ? Undoubtedly, medical science will continue to (40) ________. Some people will be able to avoid medical problems that are unavoidable today.

  31. A. forget
B. ignore
C. give up
D. throw away

  32. A. awake
B. keen
C. aware
D. concerned

  33. A. if
B. so
C. when
D. while

  34. A. how
B. what
C. which
D. when

  35. A. therefore
B. however
C. although
D. moreover

  36. A. reason
B. origin
C. source
D. cause

  37. A. more
B. much
C. very
D. quite

  38. A. where
B. when
C. why
D. whereas
  39. A. desire
B. hope
C. want
D. expect
  40. A. speed up
B. advance
C. accelerate
D. run 


IV. Mark the letter A, B, C or D to complete each of the following questions.

   41. _______ people to work together effectively, they need to be sensitive to each other’s needs.   



A. In order to




B. In order that


 
C. In order for




D. So that

   42. They forgot about ___________ them to join us for lunch.



A. us to ask


B. us asking



C. we asking



D. our asking
   43. A few of ___________ are planning to ride to the countryside this weekend. 



A. we boys


B. us boys


C. boys we



D. boys us

   45. A partnership is an association of two or more individuals ___  together to develop a business.



A. who working


B. who works



C. those who work




D. working
44. Last Sunday was ___________________ that we decided to go on a picnic.



A. so beautiful a day


B. such beautiful a day



C. such beautiful day


D. so beautiful day
V. Mark the letter A, B, C, or D to indicate the underlined part that needs correction.  
   46. Most bacteria has strong cell walls much like those of the plants (Bacteria là danh từ số nhiều gốc từ 

            A                   B  (have)                              C              D                           chữ Latin)

   47. There are many researches show that various species of animals have been extinct.

                    A                                B (showing)                                    C                            D

  48.  The people in Europe are now using the common unit of money called Euro, although 

                                                     A                                                            B                    C

           the economies in those countries are not exact the same.
                                                                               D (exactly) the same là tính từ luôn luôn có “the”)

  49. In some states, the law allows drivers to turn right at a red light, but in other states, the law does not

               A                                                       B                                                C

          leave them do it. 

             D (let)
  50. The boy has returned the wallet back to its original owner right after he picked it up.

                                              A                         B      C                                               D

                           (Dùng return thì không dùng back)

VI. Read the passage and mark the letter A, B, C or D  to indicate the correct answer to each of  

    the questions from 51 to 60.


Herbs are different kinds of plants and plant parts that can be used for medicinal purposes. This can be the leaves, stems, roots or seeds of the plant. Herbs have been important traditional medicine for centuries in both the East and the West. In Western medicine, they have been largely replaced by drugs. Herbal treatments are, however, still an integral part of Eastern medicine. In recent years, interest in traditional medicine has increased in the West. 


The main difference between herbs and drugs is that, while herbs are simply parts of the plant, drugs are specific chemicals in a pure form. Many modern drugs are derived from chemicals found in plants. One example is aspirin, which is made from a chemical extracted from the bark of the willow tree. Other drugs are entirely synthetic. Even those drugs that are derived from natural sources are heavily processed in order to purify and concentrate them. This allows drugs to be administered in very precise amounts. Different kinds of degrees and illnesses often require dosages that differ only slightly. A little too much or not enough of a certain drug can have negative effects on the patient. These undesired negative effects are called "side-effects."


The possibility of dangerous and unexpected side-effects from drugs has led many people back to traditional medicine. Herbal treatments seem more natural than modern drugs. Many feel that traditional medicine is more concerned with treating the underlying causes of disease instead of just the symptoms, though the truth of this claim is not yet clear. 


There are, however, disadvantages to herbal treatments. Few herbal treatments have been scientifically studied. Because the active chemicals are not used alone, it is very difficult to determine the proper amount of treatment, since the levels of the chemical in herbs are not constant throughout the plant. Therefore, the risk of under - and overdose is higher than with drugs. 


There are even certain herbs that can cause side-effects, just like a drug. Garlic and ginger are common elements in food that are also taken as herbal treatments, but they can be dangerous for people with diabetes. In general, herbs are most dangerous when they are taken along with common drugs. 


Finally, because production of herbal treatments is seldom regulated, harmful substances can be present in herbal preparations. Herbs grown in polluted soil may contain lead, arsenic, or mercury. They may also be tainted with pesticides. It is for these reasons that herbs should not be treated as the perfect substitute for drugs. Although herbs appear to be quite distinct from modern drugs, it is important to use them with the same sort of care.

  51. Aspirin is an example of drugs which is

     A. pure specific chemicals
B. completely derived form herbs.
     B. chemicals extracted from herbs.
D. half chemicals and half herbs.

  52. The word "integral" in the first paragraph is closest in meaning to
.

     A. harmful
B. important
C. famous
D. controversial

  53. According to the passage, herbs are most dangerous when

     A. not taken under a doctor's supervision.
B. the patient refuses modern medicine.

     C. the dosage is not administered precisely. 
D. taking in combination with drugs.

54. Why does the author mention that drugs are heavily processed?

     A. To show that herbs can not compete with modern medical techniques.

     B. Because many mistakes can occur in this processing.

     C. To illustrate that drugs are not natural.

     D. To point out that many countries can not afford to produce drugs.

55. Harmful substances may be present in herbs because they


A. contain some poisonous elements.
B. grow in polluted soil.


C. may be contaminated with pesticides.
D. B and C are correct
 56. What is the main difference between herbs and drugs according to the passage?

     A. Drugs can cause side-effects, whereas herbs do not.

     B. Drugs are at least partially synthetic, whereas herbs are natural.

     C. Herbs are dangerous when taken in large amounts; drugs are safer.

     D. Herbs can produce a false sense of securities, whereas drugs do not.

57. According to the passage, who should not take ginger or garlic as herbal treatments?

     A. Patients with diabetes
B. Patients with liver damage

     C. Patients taking antidepressants    
D. Patients with heart problems 

58. The author advises using drugs or herbs with the same sort of care because


A. both of them have the same effect.
B. both of them may have side-effects.

C. they may have no effect at all.
D. none of them treat diseases well.

59. Which of the following is closest in meaning to "tainted" in paragraph 6?

     A. accompanied
B. augmented
C. substitute
D. contaminated
60. It can be inferred from the passage that


     A. the drug industry is better regulated than the herb industry.

     B. people who use drugs instead of herbs recover more quickly.

     C. the popularity of herbal treatments will decrease in the future.

     D. the side-effects of drugs are more serious than those of herbs.

IX. Read the passage and mark the A, B, C or D to indicate the correct answer to each of the questions from 61 to 70.



Perhaps it was his own lack of adequate schooling that inspired Horace Mann to work so hard for the important reforms  in education that he accomplished. While he was still a boy, his father and older brother died, and he became responsible for supporting his family. Like most of the children in his town, he attended school only two or three months a year. Later, with the help of several teachers, he was able to study law and became a member of the Massachusetts bar, but he never forgot those early struggles.



While serving in Massachusetts legislature, he signed a historic education bill that set up a state board of education. Without regret, he gave up his successful legal practice and political career to become the first secretary of the board. There he exercised an enormous influence during the critical period of reconstruction that brought into existence the American graded elementary school as substitute for the older distinct school system. Under his leadership, the curriculum was restructured, the school year was increased to a minimum of six months, and mandatory schooling was extended to age sixteen. Other important reforms included the establishment of state normal schools for teacher training, institutes for in-service teacher education, and lyceums for adult education. He was also instrument in improving salaries for teachers and creating school libraries.



Mann’s ideas about school reform were developed and distributed in twelve annual reports to the state of Massachusetts that he wrote during his tenure as secretary of education. Considered quite radical at the time, the Massachusetts reforms later served as a model for the nation. Mann was recognized as the father of public education.       

 61. Which of the following titles would best express the main topic of the passage ?


A. The Father of American Public Education                       B. Philosophy of Education


C. The Massachusetts State Board of Education.                      D. Politics of Educational Institutions

 62. Which of the following describes Horace Mann’s early life ?


A. He attended school six months a year.
   
                           B. He had to study alone, without help.

     C. He supported his family after his father died.                  D. He was an only child.



 63. The word “struggles” in line 5 could best be replaced by


A. valuable experiences
B. happy situations

   C. influential people
D. difficult times
 64. The word “regret” in line 7 could best be replaced by



A. consideration
B. feeling sorry

   C. limitation



D. acceptance

 65. What did Horace Mann advocate ?



A. The state board school system.

   B. The district school system.



C. The substitute school system.

   D. The graded school system.
 66. The word “mandatory” in line 10 is closest in meaning to



A. required
B. equal

   C. excellent


D. basic


 67 How were Mann’s educational reforms distributed ?


A. In twelve annual reports to the state of Massachusetts




B. In reports that he wrote for national distribution.



C. In speeches that he made throughout the country.




D. In books that could be found in school libraries.

 68. The reforms that Horace Mann achieved were



A. not radical for the time.



  B. used only by the state of Massachusetts



C. adopted by the nation as a model.
  D. enforced by the Massachusetts bar.

 69. Among Mann’s school reforms, which of the following is NOT mentioned ?


   
A. Restructuring curriculum
  B. Schools for teacher training



C. Lyceums for adult education

  D. Creating museums

 70. Which of the following statements best represents Mann’s philosophy ?



A. Think in new way
  B. Help others
C. Study very hard
     D. Work hard

VII. Mark the letter A, B, C, or D to indicate the sentence that is closest in meaning to each of  
        the following questions.

   71. I haven’t written this kind of letter before.     

A. This is the first time I have written this kind of letter.  


B. I am not used to write this kind of letter.   


C. Write this kind of letter is not my habit.                


D. Never before I have written this kind of letter

   72. It seems that no one predicted the correct answer.

A. No one seems to predict the answer correctly.


B. It‘s apparent that the answer isn’t correctly predicted.


C. No one seems to have a correct prediction about the answer.


D. No one seems to have predicted the correct answer.

   73. He started computer programming as soon as he left school.



A. No sooner had he started computer programming than he left school.



B. Hardly had he started computer programming when he left school.



C. No sooner had he left school than he started computer programming.



D. After he left school, he had started computer programming.

   74. I was very impressed by her excellent performance.      


A. What greatly impressed me was her excellent performance.
   

                            

   

B. I found her performance very impressive.                

   

C. Her excellent performance made a great impression on me.                                                                                 

   

D. All are correct.  

   75. Would you mind not smoking in here ?


A. Could you stop to smoke in here ?


            B. Would you please stop to smoke in here ?


C. I would rather you didn’t smoke in here.     

            D. I want you not to stop smoking in here

  76. I regret going to his party last night.          


A. I didn’t go to his party last night.
.    
         B. I refused to go to his party last night.                 



C. I wish I didn’t go to his party last night.          D. I wish I hadn’t gone to his party last night.    

   77. It doesn’t make any difference if it rain because they will still go.



A. The difference is their going in the rain.


             B. Whether it rains or not, they will still go.



C. But for the rain, they would have gone.


            D. So long as it doesn’t rain, they will go. 

   78. There is no point in asking Tom for help

 



A. Asking Tom for help is no point.          


            B. Asking help for Tom is necessary.





C. It’s not worth asking Tom for help.


            D. It’s unable to ask Tom for help.                                         

   79. He is determined to continue working when he is 65. 


A. There is a determination of him to continue working when he is 65.


B. Not until he is 65, he is determined to continue working.


C. He has no intention of stopping working when he is 65.



D. His determination to continue working only when he is 65.

  80. You can stay in the flat for free if you pay the bills. 


A. Provided you pay the bills, you can stay in the flat for free.


B. Without the bills paid, you can stay in the free flat.


C. Unless the flat is free of bills, you cannot stay in it.



D. Whether you pay the bills or stay in the flat, it is free.
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Find the word with stress pattern different from that of the other three words in each question
1. A. gravity 


B. professor 


C. pyramid 


D. colorful 

2. A. industrial 

B. exhibition 


C. preparation 


D. decoration 

3. A. brilliant


B. insect 


C. lunar


D. proceed

4. A. reference 

B. important 


C. refusal 


D. decision 

5. A. repetitious

B. curriculum


C. historical 


D. grammatical 

Choose the best options to complete the sentences.

6. The letter _________ me of the theft hadn’t been signed.

A. to accuse
B. accused
C. accusing
D. that accuse

7. Had they arrived at the shop earlier, they_____ a better selection of clothes.


A. would be finding

B. will have found



C. will find

D. would have found

8. ________________an emergency arise , call 911

A. Should


B. Can


C. Does

D. Will

9. A: Could I speak to Susan please? 

      B: _____________ .

A. Talking
B. Speaking
C. Calling
D. Answering

10. Having opened the bottle, _____________ for everyone.

       A. The drink was poured
B. Mike poured the drink

       C. Mike pouring the drink
D. The drink was being poured

11. The house is found ___________________down

A. to burn 


B. burning

C. having burned

D. to have been burned

12. Please look through these papers ... your pleasure

A. on



B. in


C. for



D. at

13. His job is ….

A. driving a bus

B. a bus driver
C. bus driving

D. a driver of a bus


14. Granny is completely deaf. You’ll have to … allowance for her

A. bring


B. take

C. make


D. find

15. Nothing can ____________ the loss of the child.

A. make up with
B. make up for
C. do with
D. come up with

16. ‘’ Would you mind turning down your stereo ?’’   - “ …….”

A. I’m really sorry! I ‘m not paying attention

B. Oh! I’m sorry! I didn’t realize that

C. No. I don’t






D. Yes, I do 

17. " Can you ____me a favor , Bill ? " Peter said .

A. get 

     B. do


 C. put 

      D. make 

18. I will recommend _____to the director .

A. the student to speak 



B. that the student speaks 

C. that the student speak 



D. that the student speaking .

19.   _______ that he had no choice but to leave early.

A. In such a situation did he find himself



B. In such a situation he found himself

C. He found himself in a situation where



D. He found himself in a so embarrassing situation

20. Make sure that you pick up your tickets ____advance .

A. in 



B. of 



C. on



 D. at .

21. Melanie was ______pain ,but she couldn't use the painkiller she had at home because it was _______date .

A. in - out of 
B. at - outside 
C. for - under 
D. with - up to .

22. I __________ this letter while I was tidying up.

A. came by
B. brought in
C. brought back
D. came across

23. Only in the last few days ... to repair the swimming pool

A. anything has been done

B. has done anything

C. has anything been done

D. has there anything been done

24. The problem ________never occurred .

A. I had expected it 



B. who I had expected .

C. that I had expected it 



D. I had expected .

25. If you hadn’t watched that late movie last night, you ________ sleepy now.

       A. wouldn’t have been
B. might not have been

       C. wouldn’t be
D. wouldn’t have been being

26. My old friend and colleague, John, __________ married.

A. have just got
B. has just got
C. just have got
D. just has got

27. I suggest that the doctor _________ up his mind without delay.

A. makes
B. make
C. made
D. is to make

28. The whole village was wiped out in the bombing raids.

A. changed completely
B. cleaned well

C. destroyed completely
D. removed quickly

29. where he tried to hide his favourite jacket, Mogie’s brother always managed to find it.

A. Much as 

B. However 

C. Even though 

D. No matter

30. No sooner _________the news than she fainted.

A. she heard 

B. had she heard 
C. as she heard 

D. she had heard

31. The doctor gave the patient _______ examination to discover the cause of his collapse.

A. a thorough
B. an exact
C. a universal
D. a whole

32. Nowadays children would prefer history _______ in more practical ways.

A. teach
B. to be taught
C. be taught
D. to teach

33. John has a monthly bank _______ sent to him so that he knows how much there is his account.

A. cheque
B. balance
C. statement
D. overdraft

34. Many political radicals advocated that women should not be discriminated on the basic of their sex.

A. openly criticized
B. rightly claimed
C. publicly said
D. publicly supported

35. His brother refuses to even listen to anyone else's point of view. He is very_______ .

A. kind - hearted
B. narrow- minded
C. open - minded
D. absent - minded

36. The success of the party was mainly due to the presence of several_______ .

A. celebrations
B. celebrities
C. celebrates
D. celebrated

37. George wouldn't have met Mary_______ to his brother's graduation party.

A. if he shouldn't have gone
B. had he not gone

C. if he has not gone

D. hadn't he gone

38. On _______ he had won, he jumped for joy.

A. having
B. he was told
C. being told
D. telling

39. I should very much like to have gone to that party of theirs, but _______ .

A. I'm not invited
B. I have not been invited

C. I was not invited
D. I will not be invited

40. Jane wasn't in when I arrived. I suppose she _______ I was coming.

A. can't have forgotten
B. must forget
C. may forget
D. must have forgotten

Choose from four alternatives (A, B, C, or D) which you think that is closest meaning to the sentence above.

41. . Rather than disturb the meeting, I left without saying goodbye.

A. I would rather disturb the meeting than leave without saying goodbye.

B. I left without saying goodbye as I didn’t want to disturb the meeting.

C. I disturbed the meeting because I said goodbye

D. The meeting was disturbed as I left saying goodbye.

42. Wealthy as they were, they were far from happy.

A. They were not happy as they were wealthy


B. Although they were wealthy, they were not happy.

C. They were as wealthy as they were happy.



D. Even if they were wealthy, they were not happy.

43. When I arrived, they were having lunch.

A. I came to their invitation to lunch.




B. They ate their lunch as soon as I arrived.

C. I came in the middle of their lunch.




D. When they start having their lunch, I arrived.

44. . “Would you like something to drink?” he asked.

A. He asked me would like something to drink.



B. He wanted to invite me for something to drink.

C. He asked me if I wanted something to drink.



D. He offered me something to drink.

45. Their chances of success are small.

A. It’s very likely that they will succeed




B. They will definitely be successful

C. It’s not very likely that they will succeed



D. They won’t have any chances of being successful

Identify the underlined word or phrase that must be changed in order for the sentence to be corrected

46. (A)It’s thirty years (B)since this(C) thirty-storeys building (D)was built.

47. He was seen (A)enter the house (B)at midnight, so he (C)shouldn’t say he didn’t (D)do it.

48. . (A)Never before(B) I have seen a man who (C)enjoyed being (D)lied to.

49. We insist on (A)you (B)leaving the meeting( C)before any( D)further outbursts take place .

50. Nora (A)hardly never misses( B)an opportunity(C) to play (D)in the tennis tournaments 

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the numbered blanks.

Everybody has heard about the Internet, do you know what an “intranet” is? It is this: just as the Internet connects people around the world, intranets connect people within a (51) _______ company. In fact, intranets make use of the same software programs as the Internet to (52) _______ computers and people. This (53) _______ that you do not have to buy a lot of additional programs to set up an intranet service. If your intranet is working properly, it can link together a huge amount of (54) _______ which is stored in different places in the company. In this way, people can get the information they need, regardless (55) _______ where it comes from. A company intranet can, of course, be used for unimportant information like office memos or canteen menus. But an intranet should (56) _______ important information which people need to make decision about new products, costs and so on. The intranet is (57) _______ to share their information with other people. (58) _______, many departments don’t want to share their specialist knowledge with others. Another problem which often occurs is (59) _______ top managers like to use the intranet to “communicate down” rather than to “communicate across”. That is, they use the intranet to give orders, not to (60) _______ information between themselves and others working in the same organization.

51. A. branch
B. jointed
C. single
D. large

52. A. contact
B. compare
C. distinguish
D. introduce

53. A. indicates
B. is
C. means
D. is said

54. A. information
B. properties
C. elements
D. parts

55. A. to

B. on
C. with
D. of

56.  A. provide
B. take
C. give
D. bring

57.  A. going
B. willing
C. likely
D. happened

58. A. However
B. Luckily
C. Unfortunately
D. Consequently

59. A. which
B. it
C. what
D. that

60.  A. enjoy
B. provide
C. share
D. divide

Read the passage carefully, then choose the correct answer.

Carbon dioxide in the atmosphere, which is primarily a result of mankind's burning of fuels, is thought to act like the glass of a greenhouse. It absorbs heat radiation from the earth and its atmosphere, heats that otherwise would dissipate into space. The possibility that the greenhouse effect could alter the earth's temperature has been debated for many years. Scientists have agreed that carbon dioxide is increasing but there has been uncertainty about whether temperatures are also increasing. The major difficulty in accepting the greenhouse effect has been the absence of observed warming coincident with the historic carbon dioxide increase.

61. : What does the scientific community think about the greenhouse effect?

A. It regards it as an established scientific fact.

B. It considers it a promising scientific issue.

C. It finds it an important mechanism for removing carbon dioxide from greenhouse.

D. It sees it as a useful agricultural technique.

62. One thing that all atmospheric scientists apparently agree about is that _______ .

A. global temperatures are continually rising.

B. greenhouse affects the earth's temperature significantly.

C. the amount of carbon dioxide in the atmosphere is increasing.

D. the glass of greenhouses has reduced the need to burn fuel.

63. The carbon dioxide in the atmosphere is believed to produce the greenhouse effect by _______ .

A. preventing heat radiation from escaping the earth's atmosphere.

B. dissipation into outer space.

C. being burned on the ground.

D. being widely used for agricultural purposes in greenhouse.

64. Doubts about the greenhouse effect seem to center on the fact that_______ .

A. past increase in carbon dioxide volume and global temperatures have often not corresponded.
B. it is difficult to locate and identify carbon dioxide in the atmosphere.

C. growing produce in greenhouses has been only marginally profitable.

D. the earth is steadily cooling down.

65. The principal consequence of the greenhouse effect is assumed to be an increase in _______ .

A. the building of fossil fuels.
B. the sun's radiation reaching earth.

C. global temperatures.
D. the building of greenhouse. 

Read the passage carefully, then choose the correct answer.

Telecommunicating is a form of computer communication between employees’ homes and offices. For employees whose jobs involve sitting at a terminal or word processor entering data or typing reports, the location of the computer is of no consequence. If the machine can communicate over telephone lines, when the work is completed, employees can dial the office computer from a distant site and transmit the material to their employers. A recent survey in USA Today estimates that there are approximately 8.7 million telecommuters. But although the numbers are rising annually, the trend does not appear to be as significant as predicted when Business Week published "The Portable Executive" as its cover story a few years ago. Why hasn't telecommuting become more popular?

Clearly, change simply takes time. But in addition, there has been active resistance on the part of many managers. These executives claim that supervising the telecommuters in a large work force scattered across the country would be too difficult, or, at least, systems for managing them are not yet developed, thereby complicating the manager's responsibilities.

It is also true that employees who are given the option of telecommuting are often reluctant to accept the opportunity. Most people feel that they need regular interaction with a group, and many are concerned that they will not have the same consideration for advancement if they are not more visible in the office setting. Some people feel that even when a space in their homes is set aside as a work area, they never really get away from the office.

66. The author mentions all of the following as concerns of telecommuters EXCEPT_______ .

A. the lack of interaction with a group


B. the different system of supervision

C. the fact that the work space is in the home

D. the opportunities for advancement

67. How many American workers are involved in telecommuting?

A. More than predicted in Business Week


B. Fewer than estimated in USA Today
C. More than 8 million


D. Fewer than last year

68. It can be inferred from the passage that the author is _______ .

A. a statistician


B. a telecommuter

C. the manager of a group of telecommuters


D. a reporter

69. The word "resistance" could best be replaced by_______ .

A. alteration
B. consideration
C. participation
D. opposition

70. Which of the following is the main topic of the passage?

A. The failure of telecommuting


B. The advantages of telecommuting

C. A definition of telecommuting


D. An overview of telecommuting

IX. Choose the word or phrase (A, B, C or D) that best fits the blank space in the following passage.

Face-to-face conversation is a two-way process: You speak to me, I reply to you and __(71)__. Two-way __(72)__ depends on having a coding system that is understood by both sender and __(73)__, and an agreed convention about signaling the beginning and end of the message. In speech, the coding system is the language __(74)__ English or Spanish; the convention that one person speaks at __(75)__ time may seem too obvious to __(76)__ In fact, the signals __(77)__ in conversations and meetings are often __(78)__ For example, lowering the pitch of the voice may mean the end of a sentence; a sharp intake of breath may signal the desire to __(79)__, catching the chairman's eye may indicate the desire to speak in a formal setting like a debate, a clenched fist may indicate anger. When __(80)__ visual signals are not possible, more formal signals may be needed.

71.  A. so on
B. versus
C. as well
D. etc

72. A. exchange
B. communication
C. interchange
D. correspondence

73. A. announcer
B. receiver
C. messenger
D. transmitter

74. A. either
B. like
C. alike
D. as

75. A. the

B. a
C. one
D. all

76. A. notice
B. recognize
C. mention
D. judge

77. A. being used
B. that people use
C. are used
D. using

78. A. informal
B. formal
C. non-verbal
D. verbal

79. A. interchange
B. interrupt
C. intercept
D. interfere

80. A. that
B. those
C. their
D. these

----- THE END ----- 
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ĐỀ THI GỒM 80 CÂU (TỪ QUESTION 1 ĐẾN QUESTION 80)
Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Mark the  letter  A,  B,  C,  or  D  on  your  answer  sheet  to indicate  the  word  or  phrase  that  is OPPOSITE in meaning to the underlined part in each of the following questions.
Question 6: The story told by the teacher amused children in the class.
A. frightened
B. jolted                        C. saddened                   D. astonished
Question 7: The clubs meet on the last Thursday of every month in a dilapidated palace.

A. neglected
B. regenerated
C. furnished
D. renovated

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks from 8 to 17.
Delhi and Mumbai are the fifth and third cheapest cities of the world, out of 134 __(8)___, says a news report. This comes as a ___(9)___, naturally, to those who live in these places and have been led to ___ (10) ___ that they lead a pretty expensive life. Particularly what with the global commodity price boom pushing up material prices and all kinds of labour costs. With their considerable experience in “arranging” surveys to deliver the desired results, many a Dilliwala or Mumbaikar might be tempted to ___(11)___ the survey which came up with these results was ___(12)___ by some sponsor or the other. Such cynicism goes out of the ___(13)___ when the same news report reveals that the survey was conducted by a respectable organisation. ___(14)___ a scrutiny of the top five cities and the two Indian cities, neighbours at the bottom yields a clue.
Tokyo leads the pack, followed by Oslo, Kobe, Paris and Zurich. One cannot readily vouch for Paris, but the other four are some of the most placid peaceful cities of the world. When we come to the bottom of the ranking, giving ___(15)___ to Delhi and Mumbai are Tehran. Tunis and Karachi, the last mentioned being crowned the cheapest city of them all. Karachi gives the game away immediately, lifting all ___(16)___ over what exactly is cheap in these places jostling for space at the bottom of the list. Life liberty and human dignity are what goes ___(17)___ in these towns and what makes Delhi and Mumbai worthy contenders in the race to global cheapness. When crime goes unchecked, even after being widely reported and condemned, and criminals run rampant, life gets degraded, deformed, even extinguished. Life, in other words, gets cheap. Call it the lighter side of death.
   Question 8:   A. participated     B. sought
                C. designed
               D. surveyed 

Question 9:   A. reckoner
B. shock
C. mistake
D. relief 

Question 10: A. style
B. pretend
C. believe
D. deny 

Question 11: A. conclude
B. protest
C. conduct
D. oppose 

Question 12: A. rejected
B. manipulated
C. improved
D. matched
	Question 13: A. doubt
	B. city
	C. senses
	D. door

	Question 14: A. But
	B. Whether
	C. Would
	D. As

	Question 15: A. significance
	B. threat
	C. company
	D. competing

	Question 16: A. dependency
	B. mystery
	C. definitions
	D. inhibition

	Question 17: A. miss
	B. unreported
	C. complex
	D. cheap


Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.
Question 18: The abominable custom of women sacrificing themselves with the pyres of their dead husbands was abolished during the right of William Bentinck.

A. social
B. sacred
C. disgusting
D. moral

Question 19: The suspected couple was taken away from the airport through a side entrance to the Police Station for interrogation.
A. whisked                     B. rushed                       C. guided
               D. no improvement

Question 20: In spite of all the provocations, he maintained utmost patience.

A. inflicted
B. sustained
C. restrained
D. exercised

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.
Question 21: Alike other forms of energy, natural gas may be used to heat homes, cook food, and 

                         A
                                                                 B
        C


even run automobiles.

           D

Question 22: The federal government recommends that all expectant women will not only refrain 

                                                                          A
                      B
                           C

from smoking but also avoid places where other people smoke.


                 D

Question 23: Unless one subscribes to a large metropolitan newspaper such as the "Wall Street

                                    A                                                                                 B 

Journal", or the "Washington Post", one will find very few news from abroad.. 

                                                           C                                 D

Question 24: Increasing involvement in agriculture by large corporations has resulted in what is 


A                          B

known as agribusiness, that is, agriculture with business techniques, including heavy capitalization, 


C

specialization of production, and to control all stages of the operation.

                
D

Question 25: Almost poetry is more enjoyable when it is read aloud. 

                            A                      B            C                    D       
Read the following passage, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 26 to 35.
It takes a long time to raise a family of owlets, so the great horned owl begins early in the year. In January and February, or as late as March in the North, the male calls to the female with a resonant hoot. The female is larger than the male. She sometimes reaches a 5 body length of twenty-two to twenty-four inches, with a wingspread up to fifty inches. To impress her, the male does a strange courtship dance. He bobs. He bows. He ruffles his feathers and hops around with an important air. He flutters from limb to limb and makes flying sorties into the air. Sometimes he returns with an offering of food. 10 They share the repast, after which she joins the dance, hopping and bobbing about as though keeping time to the beat of an inner drum. 
Owls are poor home builders. They prefer to nest in a large hollow in a tree or even to occupy the deserted nest of a hawk or crow. 15 These structures are large and rough, built of sticks and bark and lined with leaves and feathers. Sometimes owls nest on a rocky ledge, or even on the bare ground. even to occupy the deserted nest of a hawk or crow. These structures are large and rough, built of sticks and bark and lined with leaves and feathers. Sometimes owls nest 20 on a rocky ledge, or even on the bare ground. The mother lays two or three round, dull white eggs. Then she stoically settles herself on the nest and spreads her feather skirts about her to protect her precious charges from snow and cold. 
25 It is five weeks before the first downy white owlet pecks its way out of the shell. As the young birds feather out, they look like wise old men with their wide eyes and quizzical expressions. They clamor for food and keep the parents busy supplying mice, squirrels, rabbits, crayfish, and beetles. Later in the season baby crows are 30 taken. Migrating songsters, waterfowl, and game birds all fall prey to the hungry family. It is nearly ten weeks before fledglings leave the nest to search for their own food. The parent birds weary of family life by November and drive the young owls away to establish hunting ranges of their own.

Question 26. What is the topic of this passage? 
       A. Raising a family of great horned owls                     B. Mating rituals of great horned owls
       C. Nest building of great horned owls                          D. Habits of young great horned owls
Question 27. In line 2-3, the phrase "a resonant hoot”  is closest in meaning to__________.
A. an instrument                                                                B. a sound
C. a movement                                                                  D. an offering of food
Question 28. It can be inferred from the passage that the courtship of great horned owls ______.
A. takes place on the ground                                             B. is an active process
C.happens in the fall                                                           D. involves the male alone
Question 29. According to the passage, great horned owls
A. are discriminate nest builders                                        B. need big nests for their numerous eggs
C. may inhabit a previously used nest                                D. build nests on tree limbs
Question 30. According to the passage, which of the following is the mother owl's job?
A. To initiate the courtship ritual                                      B. To feed the young
C. To sit on the nest                                                           D. To build the nest
Question 31. The phrase "precious charges”  in lines 15 refers to ____________.
A. the eggs                         B. the nest                C. the hawks and crows          D. other nesting owls
Question 32. According to the passage, young owlets eat everything EXCEPT ____________

A. other small birds          B. insects                  C. small mammals                  D. nuts and seeds
Question 33. In line 17, the word "they”  refers to _______________.
A. the wise old men          B. the adult birds      C. the young birds                  D. the prey
Question 34. What can be inferred from the passage about the adult parents of the young great horned owls? 
A. They are sorry to see their young leave home.
B. They are lazy and careless about feeding the small owlets.
C. They probably don't see their young after November.
D. They don't eat while they are feeding their young.
Question 35. The phrase "weary of”  in line 21 is closest in meaning to________________.
A. tire of                          B. become sad about   C. support                              D. are attracted to
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions.
Question 36: As long as you stay calm, you have nothing to fear from the interview.

A. You have remained calm for a long time in spite of your fear of the interview.

B. Interviews are only intimidating for people who are not extremely calm.

C. Provided you do not get nervous, the interview won't go badly for you.

D. Even if you are afraid of the interview, it is important not to let it show.

Question 37: Let's go shopping sometime mid-week, it gets so crowded at the weekends.

A. I always like to shop mid-week as everywhere is so crowded at weekends.

B. I find it impossible to shop at weekends because there are so many people everywhere.

C. I suggest we avoid the weekend and do our shopping in the middle of the week when it's quieter.

D. The best time to go shopping is midweek when it is usually reasonably quiet.

Question 38: My father says that you should treat people how you wish to be treated yourself.
A. If you had listened to my father, you would always treat others with the consideration you expect from them towards yourself.

B. My father always instructs me to consider how people wants to be treated and behave accordingly.

C. I have always behaved towards people as I wish to be treated myself, because this is what my father taught me.

D. It's my father's belief that you ought to behave towards other people the way you want them to behave towards you.

Question 39: Being just on the point of closing the shop, the shop assistant was not happy with the arrival of a late customer.

A. The assistant closed the shop very late because a customer turned up at the last moment and he had to deal with her.

B. Although the shop assistant wasn't pleased to have a customer as he was closing the shop, he gave his service away.

C. The shop assistant was hurrying to close the shop, but just then, a customer arrived.

D. The shop assistant didn't like it when a customer arrived just as he was closing the shop.

Question 40: People are not allowed to photograph the interior of the museum.
A. Taking photographs inside the museum is strictly forbidden. 

B. It's not advisable to try to bring a camera into the museum.

C. We were only able to take photos of the museum's exterior.

    D. No one has ever taken a photo inside the museum
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 41: John's score on the test is the highest in the class; ________

 A. he should study last night                                   B. he should have studied last night
 C. he must have studied last night                           D. he must had to study last night 
Question 42: Only when it rains for many days ________.

A.is there a flood.           B. there a flood is.         C. is a flood there.      D. there is a flood.

Question 43: ________, human beings have relatively constant body temperature.

        A. Alike all mammal        B. Alike all mammals    C. Like all mammals  D. Like all mammal

Question 44: According to a recent survey, ________ doctors do not have a personal physician.

        A. a large amount of        B. large amount of         C. a large number of   D. large number of

Question 45: Technically, glass is a mineral and ________.

      A. water so                       B. water is so                 C. so water is               D. so is water
Question 46: The rains of 1993 ________ the Missouri river to overflow resulted in one of the worst floods of this century.

      A. the cause of                  B. causing                       C. they caused            D. caused 

Question 47: The U.S. postal service policy for check approval includes a requirement that two pieces of identification ________.

      A. be present                      B. presented                   C. must presented       D. for presentation 

Question 48: Drivers should look very carefully ________ onto the main street.

      A. when turning                 B. they turn                    C. turn                         D. when they turning 

Question 49: ________ of the United States grown during a Republican administration. 

      A. Rarely the federal government has                       B. Rarely has the federal government
      C. Has the federal government rarely                        D. The federal government has rarely 

Question 50: Legumes take nitrogen into their roots ________ the air.

      A. except                           B. however                     C. but                           D. from

Question 51: I ______ my pipe and ______ to him to show that I ______.

A. lit - was nodding - was listening                            B. lit - nodded - listened

C. lit - nodded - was listening                                     D. was lighting - nodded - was listening

Question 52: For the investor who ________ money, silver or bonds are good options.

      A.has so little a                 B. has very little            C. has so few                D. has very few 

Question 53: I cannot stay up late at night. I prefer ___________ early.

       A. turning on


    B. turning up

          C. turning in


   D. turning out

Question 54: After running up the stairs, I was ________ breath.

     A. without                      B. out of

            C. no


  D. away from


Question 55: Never ___________ till tomorrow what you can do today.

    A. put out                         B. put off


C. put away

   D. put down 

Question 56: If humans were totally deprived of sleep, they ________ hallucinations, anxiety, coma, and eventually, death.

   A. would experience       B. experience                  C. would have experienced   D. had experienced 

Question 57: ________ the plow is being displaced by new techniques that protect the land and promise more abundant crops.

     A. The whole                  B. Wholly                       C. On a whole                D. As a whole                  

Question 58: Anna:  " Do you think you will be appointed business manager?"     Joan: " ___________"

   A. Congratulations!         B.I hope so
             C. So be it
               D. So do I


Question 59: “Never be late for an interview,  
 you can’t get the job.”

A. or so
B. unless
C. if not
D. otherwise

Question 60: I could not  
 the lecture at all. It was too difficult for me.

A. hold on
B. make off
C. get along
D. take in

 Question 61: Daisy:  Goodbye, Susie!

Susie:   ____________!


  A. So so 

          B. The same

C. Yeah

   D. So long

Question 62: John: " You're already leaving? The ball is only starting."  Peter: " But it's very late, so _."

  A. goodbye for now
B. have a good day

  C. take care
D. it's great fun, thanks^

Question 63: Shopkeeper: " _______"                     Customer:  "Yes. I'd like to buy a computer."

A. Excuse me. Do you want to buy it?
 B. Good morning. Can I help you?

   C. Do you look for something?                            D. Can you help me buy something?

Question 64: Tom: “Why didn’t you pay the telephone bill?”           Lucy: “______________”
A. I did
B. Thank you for all that   C. Well, it’s too thick 
D. Yes, it was true.

Question 65: I can't decide if I ______ you till I ______ when they ______.

A. will join - will know - will leave
            B. will join - know - leave

C. join - will know - leave


D. join - will know - will leave

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 66: No one but the experts was able to realize that the painting was an imitation. It greatly resembled the original.
A. It was obvious that only a person with great talent could fake a painting so successfully.

B. It was hard for ordinary people to judge between the fake painting and the real one, but not for the experts.

C. It was almost impossible for amateurs to realize that the painting was not authentic, though the experts could judge it quite easily.

D. The painting looked so much like the authentic one that only the experts could tell it wasn't genuine.

Question 67: The new restaurant looks good. However, it seems to have few customers.
A. In order to get more business, the new restaurant should improve its appearance.

B. The new restaurant would have more customers if it looked better.

C. If it had a few more customers, the new restaurant would look better.

D. In spite of its appearance, the new restaurant does not appear to attract much business.

Question 68: I'd suggest that we avoid telling any scary stories with Janet around.  She’s a bit unstable and could get hysterical.

A. Janet has trouble keeping her emotions under control, especially when she is told frightening stories.

B. Since Janet is somewhat unbalanced, the only way to make her laugh is by telling  stories, but we should avoid scary ones as they might cause her to panic.

C. It is no fun to tell frightening stories to Janet, who is not very stable mentally, because she only laughs instead of getting scared.

D. Janet is somewhat mentally unbalanced and might easily become uncontrollably emotional, so let’s not tell frightening stories in her presence.

Question 69: We chose to find a place for the night. We found the bad weather very inconvenient.
A. Bad weather was approaching, so we started to look for a place to stay.

B. The bad weather prevented us from driving any further.

      C. Seeing that the bad weather had set in, we decided to find somewhere to spend the night.
D. Because the climate was so severe, we were worried about what we'd do at night.

Question 70: It isn't just that the level of education of this school is high. It's that it's also been consistent for years.

A. The level of education in this school, which is usually quite high, shows only slight variations from year to year.

B. The standard of education is not high in this school, but at least all the students are at the same level.

C. Not only are the standards of education good in this school, but it has maintained those standards over the years.

D. It isn't fair to deny that this school is successful, as it has had the same high standards for many years now.

Read the following passage adapted from A. Briggs’ article on culture, Microsoft® Student 2008, and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 71 to 80.
In the early 1800s, to reach the jump-off point for the West, a family from the East of the United States could either buy steamboat passage to Missouri for themselves, their wagons, and their livestock or-as happened more often-simply pile everything into a wagon, hitch up 5 a team, and begin their overland trek right in their front yard. 
Along the macadamized roads and turnpikes east of the Missouri River, travel was comparatively fast, camping easy, and supplies plentiful. Then, in one river town or another, the neophyte emigrants would 10 pause to lay in provisions. For outfitting purposes, the town of Independence had been preeminent ever since 1827, but the rising momentum of pioneer emigration had produced some rival jump-off points. Westport and Fort Leavenworth flourished a few miles upriver. St. Joseph had sprung up 55 miles to the northwest; in fact, emigrants 15 who went to Missouri by riverboat could save four days on the trail by staying on the paddle-wheelers to St. Joe before striking overland. 
At whatever jump-off point they chose, the emigrants studied guidebooks and directions, asked questions of others as green as themselves, 20 and made their final decisions about outfitting. They had various, sometimes conflicting, options. For example, either pack animals or two-wheel carts or wagons could be used for the overland crossing. A family man usually chose the wagon. It was the costliest and slowest of the three, but it provided space and shelter for children and 25 for a wife who likely as not was pregnant. Everybody knew that a top-heavy covered wagon might blow over in a prairie wind or be overturned by mountain rocks, that it might mire in river mud or sink to its hubs in desert sand-but maybe if those things happened on this trip, they would happen to someone else. Anyway, most pioneers, with their 30 farm background, were used to wagons.

Question 71. What is the topic of this passage? 
A. Important river towns                                              B. Getting started on the trip west
C.The advantages of traveling by wagon                      D. Choosing a point of departure
Question 72. All of the following can be inferred from the passage about travel east of the Missouri EXCEPT that it _______________.
A. was faster than in the West                                      B. was easier than in the West
C. took place on good roads                                          D. was usually by steamboat
Question 73. The phrase "jump-off point" in lines 1, 9 and 12 is closest in meaning to________.
A. a bridge across a river    B. a point of departure  C. a gathering place      D. a trading post                                           

Question 74. Which of the cities that served as a jump-off point can be inferred from the passage to be farthest west? 
A. Independence         B. St. Joseph                  C. Westport                    D. Fort Leavenworth
Question 75. The word "preeminent" in line 8 is closest in meaning to_____________.
A. Oldest                     B. Superior                    C. most easily reached   D. closest
Question 76. The author implies in the passage that the early emigrants _____________. 
A. knew a lot about travel
B. were well stocked with provisions when they left their homes
C. left from the same place in Missouri
D. preferred wagon travel to other types of travel
Question 77. All of the following were mentioned in the passage as options for modes of transportation from the Missouri River to the West EXCEPT _______________.

A. a wagon                 B. a riverboat                 C. a pack animal            D. a two-wheel cart
Question 78. In line 11, the word "striking" is closest in meaning to _____________
A. hitting                    B. orienting                   C. departing                    D. marking
Question 79. All of the following features of the covered wagon made it unattractive to the emigrants EXCEPT _________________.
A. the speed at which it could travel               B. its bulk
C. its familiarity and size                                  D. its cost
Question 80. In line 19, the phrase "those things" refers to _______________.
A. the types of transportation                           B. the belongings of the pioneers
C. the problems of wagon travel                       D. the overland routes
                                  

---------- THE END ----------
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Mark the letter A, B, C or D on your answer sheet to indicate the correct answer that best completes each unfinished sentence, substitutes the underlined part, or has a close meaning to the original one 

Question 1: ……….. be needed, the water basin would need to be dammed.
	A. Hydroelectric power should

C.   Hydroelectric power
	B. When hydroelectric power

D. Should hydroelectric power


Question 2: The replacement of shops such as the groceries’ and chemist’s by cafes………….. the housewives with insufficient facilities for shopping.
	A. leave
	B. have left
	C. has left  
	D. to have left


Question 3: Deborah is going to take extra lessons to………. what she missed while she was away.

	A. catch up on
	B. cut down on
	C. put up with
	D. take up with


Question 4: Jane: Thank you for a lovely evening. 

                    Barbara: ………………………………

	A. You are welcome
	B. Have a good day
	C. Thanks
	D. Cheer!


Question 5: I have English classes …………day - on Mondays, Wednesdays and Fridays.
	A. all other
	B. each other
	C. every other
	D. this and the other


Question 6: She was ………………she could not say anything.

	A. so surprised at the news that

C.   so surprised of the news that
	B. such surprised at the news that
D. so that surprised for the news


Question 7: There is a huge amount of ………associated with children’s TV shows nowadays.  

	A. produce
	B. manufacturing
	C. merchandising
	D. sales   


Question 8: British and Australian people share the same language, but in other respects they are as different as ………..

	A. cats and dogs
	B.  chalk and cheese
	C. salt and pepper
	D. here and there


Question 9: It’s essential that every student …………the exam before attending the course.

	A. pass 
	B. passes 
	C. would pass
	D. passed 


Question 10: I decided to go to the library as soon as I…………….
	A. finish what I did

C.  finished what I did
	B. would finish what I did 

D. finished what I was doing 


Question 11: ………………..in the street yesterday was very friendly.

	A. The mounted police, who I saw

C.   Who is the mounted police I saw
	B. The mounted police I saw whom
D. The mounted police whom I saw


Question 12: A washing machine of this type will certainly………….normal domestic use.
	A. stand up for
	B. come up with
	C. get on to
	D. take down with    


Question 13: “Please speak up a bit more, Jason. You’re hardly loud enough to be heard from the back”, the teacher said.
	A. visible  
	B. audible 
	C. edible 
	D. eligible


Question 14: Ancient Egyptians mummified their dead through the use of chemicals, …………. ancient Peruvians did through natural processes.
	A. because 
	B. whereas 
	C. even though
	D. whether or not


Question 15: It is very difficult to…………the exact meaning of an idiom in a foreign language.             

	A. convert
	B. convey
	C. exchange
	D. transfer


Question 16: Issues from price, place, promotion, and product are………….of marketing strategies planning, despite growing calls to expand the range of issues in today’s more complex world.

A. these that are among the most conventional concerns

B. among the most conventional concerns

C. they are among the most conventional concerns

D. those are among the most conventional concerns

Question 17: Please cut my hair …………….the style in this magazine. 

	A. the same length as
	B. the same length like
	C. the same long like
	D. the same long as


Question 18: Carbon dioxide may be absorbed by trees or water bodies, or it may stay in the atmosphere when………., while it is only in the atmosphere that chlorofluorocarbons find their home.
	A. by releasing emissions from cars

C.   cars that release emissions
	B. released from car emissions

D. emissions are released by cars


Question 19: Half of the children were away from school last week because of……..of influenza.
	A. a break- out
	B. a breakthrough
	C. an outburst
	D. an outbreak


Question 20: A: This grammar test is the hardest one we’ve ever had this semester!

                       B: …………………but I think it’s quite easy. 

	A. I couldn’t agree more.

C.   You’re right.
	B. I understand what you’re saying.

D. I don’t see in that way.


Question 21: So little………….about mathematics that the lecture was completely beyond me.
	A. I have known
	B. I knew 
	C. do I know         
	D. did I know  


Question 22: It’s a formal occasion so we’ll have to…….to the nines- no jeans and pullovers this time! 

	A. hitch up
	B. put on   
	C. wear in  
	D. get dressed up


Question 23: …………so aggressive, we’d get on much better. 

	A. She was not
	B. Had she not
	C. Weren’t she 
	D. If she weren’t


Question 24: On the second thought, I believe I will go with you to the theater.
	A. Upon reflection

C.   For this time only
	B. After discussing with my wife
D. For the second time


Question 25: A: …………………………………….

                      B: Oh, thank you. I just got it yesterday.

	A. When have you got this beautiful dress?

C. You’ve just bought this beautiful dress, haven’t you?
	B. How a beautiful dress you’re wearing!
D. That’s a beautiful dress you have on!


Question 26:  I studied English for four years in high school. …………… had trouble talking with people when I was traveling in the US.

	A. Therefore, I
	B. Otherwise, I
	C. Although I
	D. However, I


Question 27: ………….in the atmosphere is the temperature falling below freezing.

	A. Frost is produced

C.  What produces frost    
	B. Frost produces   

D. What is frost produced 


Question 28: All………….is a continuous supply of the basic necessities of life.
	A. what is needed
	B. for our needs
	C. the thing needed
	D. that is needed


Question 29: He said that the plane had already left and that I…………………an hour earlier. 

	A. Must have arrived

C.   should have arrived   
	B. had to arrive

D. was supposed to arrive 


Question 30: There seems to be a large ………. between the number of people employed in service industries, and those employed in the primary sectors.

	A. discriminate
	B. discretion
	C. discrepancy
	D. distinguish


Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase for each of the blanks from 31- 40 

COULD COMPUTER GAMES BE GOOD FOR YOU AFTER ALL

In Britain, the average young person now spends more money on games each year than on going to the cinema or renting videos. But is this……..31……a bad thing? For years, newspaper reports have been ………32….. that children who spend too much time playing computer games become unsociable, bad- tempered, even violent as a……..33…… But new research,……34…… out in both Europe and the USA, suggests that the opposite may be true.

Indeed, playing some of the more complicated games may help people of all ages to improve certain skills. Researchers claim that this is because the games………35……the brain work harder in certain ways, like……..36……sounds and movements quickly and identifying what they are. The fact that people play the games repeatedly……..37…….. that they get a lot of practice in these skills which are therefore likely to become highly developed.

Social skills may benefit, too. Researchers in Chicago think that fans of first- person shooter games……38…… “Counterstrike” are better than non-players when it comes to building trust and co-operation, and that this……..39……them to make good friendships and become strong members of  their communities. So rather than……..40…….up computer games, perhaps young people need to spend more time on them?

	Question 31.

Question 32.

Question 33.

Question 34.

Question 35.

Question 36.

Question 37.

Question 38.

Question 39.

Question 40.
	A. necessarily

A. speaking

A. product

A. worked

A. make

A. realizing

A. means

A. in order to

A. supports

A. giving
	B. certainly

B. informing

B. result

B. thought

B. force

B. noticing

B. asks

B. such as

B. helps

B. ending
	C. fully

C. telling

C. reason

C. turned

C. push

C. imagining

C. brings

C. due to

C. shows

C. taking
	D. nearly

D. saying

D. conclusion

D. carried

D. keep

D. solving

D. causes

D. as well as

D. serves

D. stopping


Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 41 to 50

A number of factors related to the voice reveal the personality of the speaker.

The first is the broad area of communication, which includes imparting information by use of language, communicating with a group or an individual and specialized communication through performance. A person conveys thoughts and ideas through choice of words, by a tone of voice that is pleasant or unpleasant, gentle or harsh, by the rhythm that is inherent within the language itself, and by speech rhythms that are flowing and regular or uneven and hesitant, and finally, by the pitch and melody of the utterance. When speaking before a group, a person's tone may indicate uncertainty or fright, confidence or calm. At interpersonal levels, the tone may reflect ideas and feelings over and above the words chosen, or may belie them. Here the participant’s tone can consciously or unconsciously reflect intuitive sympathy or antipathy, lack of concern or interest, fatigue, anxiety, enthusiasm or excitement, all of which are .usually discernible by the acute listener. Public performance is a manner of communication that is highly specialized with its own techniques for obtaining effects by voice and /or gesture. The motivation derived from the text, and in the case of singing, the music, in combination with the performer's skills, personality, and ability to create empathy will determine the success of artistic, political, or pedagogic communication.

Second, the voice gives psychological clues to a person's self-image, perception of others, and emotional health. Self-image can be indicated by a tone of voice that is confident, pretentious, shy, aggressive, outgoing, or exuberant, to name only a few personality traits. Also the sound may give a clue to the facade or mask of that person, for example, a shy person hiding behind an overconfident front. How a speaker perceives the listener's receptiveness, interest, or sympathy in any given conversation can drastically alter the tone of presentation, by encouraging or discouraging the speaker. Emotional health is evidenced in the voice by free and melodic sounds of the happy, by constricted and harsh sound of the angry, and by dull and lethargic qualities of the depressed.

Question 41. What does the passage mainly discuss?

	A. The function of the voice in performance

C. The connection between voice and personality
	B. Communication styles

D. The production of speech


Question 42. What does the author mean by staring that, "At interpersonal levels, tone may reflect ideas and feelings over and above the words chosen" in lines 8- 9?

A. Feelings are expressed with different words than ideas are.

B. The tone of voice can carry information beyond the meaning of words.

C. A high tone of voice reflects an emotional communication.

D. Feelings are more difficult to express than ideas.

Question 43. The word "Here" in line 9 refers to……………

	A. interpersonal interactions
	B. the tone
	C. ideas and feelings
	D. words chosen


Question 44. The word "derived" in line 13 is closest in meaning to………

	A. discussed
	B. prepared
	C. registered
	D. obtained


Question 45. Why does the author mention "artistic, political, or pedagogic communication" in line 14-15?

A. As examples of public performance

B. As examples of basic styles of communication

C. To contrast them to singing

D. To introduce the idea of self-image

Question 46. According to the passage, an exuberant tone of voice may be an indication of a person's………

	A. general physical health
	B. personality
	C. ability to communicate
	D. vocal quality


Question 47. According to the passage, an overconfident front may hide…………

	A. hostility
	B. shyness
	C. friendliness
	D. strength


Question 48. The word "drastically" in line 21 is closest in meaning to……………

	A. frequently
	B. exactly
	C. severely
	D. easily


Question 49. The word "evidenced" in line 22 is closest in meaning to……………

	A. questioned
	B. repeated
	C. indicated
	D. exaggerated


Question 50. According to the passage, what does a constricted and harsh voice indicate?

	A. Lethargy
	B. Depression
	C. Boredom
	D. Anger


Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part is pronounced differently from that of the rest ones

	Question 51:
	A. merchant
	B. sergeant 
	C. commercial 
	D. term  

	Question 52:
	A. colonel  
	B. journal    
	C. touring 
	D. adjourn   

	Question 53:
	A. obstacle
	B. obscure
	C. obsession
	D. oblivious

	Question 54:
	A. amuses 
	B. purses      
	C. blouses  
	D. pleases

	Question 55:
	A. Valentine
	B. imagine
	C. discipline
	D. determine


Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the questions from 56 - 64

Butterflies are among the most extensively studied insects—an estimated 90 percent of the world's species have scientific names. As a consequence, they are perhaps the best group of insects for examining patterns of terrestrial biotic diversity and distribution. Butterflies also have a favorable image with the general public. Hence, they are an excellent group for communicating information on science and conservation issues such as diversity.

Perhaps the aspect of butterfly diversity that has received the most attention over the past century is the striking difference in species richness between tropical and temperate regions.

 For example, in 1875 one biologist pointed out the diversity of butterflies in the Amazon when he mentioned that about 700 species were found within an hour's walk, whereas the total number found on the British islands did not exceed 66, and the whole of Europe supported only 321. This early comparison of tropical and temperate butterfly richness has been well confirmed.

A general theory of diversity would have to predict not only this difference between temperate and tropical zones, but also patterns within each region, and how these patterns vary among different animal and plant groups. However, for butterflies, variation of species richness within temperate or tropical regions, rather man between them, is poorly understood. Indeed, comparisons of numbers of species among the Amazon basin, tropical Asia, and Africa are still mostly "personal communication" citations, even for vertebrates, In other words, unlike comparison between temperate and tropical areas, these patterns are still in the documentation phase.

In documenting geographical variation in butterfly diversity, some arbitrary, practical decisions are made. Diversity, number of species, and species richness are used synonymously; little is known about the evenness of butterfly distribution. The New World butterflies make up the preponderance of examples because they are the most familiar species. It is hoped that by focusing on them, the errors generated by imperfect and incomplete taxonomy will be minimized. 

Question 56: The word "consequence" in line 2 is closest in meaning to…………….
	A. result
	B. explanation
	C. analysis
	D. requirement


Question 57: The word "striking" in line 7 is closest in meaning to………………
	A. physical
	B. confusing
	C. noticeable
	D. successful


Question 58: Butterflies are a good example for communicating information about conservation issues because they………
	A. are simple in structure

C. are viewed positively by people
	B. have been given scientific names

D. are found mainly in temperate climates


Question 59: The word “exceed” in line 10 is closest in meaning to……………….

	A. locate
	B. allow
	C. go beyond
	D. come close to


Question 60: Which of the following is NOT well understood by biologists?

A. European butterfly habitats

B. Differences in species richness between temperate and tropical regions

C. Differences in species richness within a temperate or a tropical region

D. Comparisons of behavior patterns of butterflies and certain animal groups

Question 61:  All of the followings are mentioned as being important parts of a general theory of diversity EXCEPT…………….

A. differences between temperate and tropical zones

B. patterns of distribution of species in each region

C. migration among temperate and tropical zones

D. variation of patterns of distribution of species among different animals and plants

Question 62: Which aspect of butterflies does the passage mainly discuss?
	A. Their physical characteristics

C. Their names
	B. Their adaptation to different habitats

D. Their variety


Question 63: The author mentions tropical Asia in lines 16-17 as an example of a location where……

A. butterfly behavior varies with climate

B. a general theory of butterfly diversity has not yet been firmly established

C. butterflies are affected by human populations

D. documenting plant species is more difficult than documenting butterfly species

Question 64: The word "generated" in line 24 is closest in meaning to……….

	A. requested
	B. caused
	C. assisted
	D. estimated


Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction 

Question 65: All of the mammals, dolphins are undoubtedly  among the friendly to human

                           A                                                         B               C               D 

Question 66: Many of the important products obtained from trees, one of the most important is                                                                                                                            

                                A                                              B                                         C

wood pulp, which is used in paper-making.
                                                        D

Question 67:  All nations may have to make fundamental changes in their economic, political, and 

                                                           A                                       B

the technological institutions if they are to preserve   environment.

                             C                                                D

Question 68: Chicago's Sears Tower, now the tallest building in the world, rises 1,522 feet from the 

                                                               A                                                          B               C

ground to the top of it antenna.

                          D
Question 69: It was suggested that Pedro studies the material more thoroughly before attempting 

                                                                       A                            B                                         C   
to pass the exam.          

     D
Question 70: In just three months H.G. Wells wrote the famous classic The Time Machine for what 

                            A                                               B                                                                          C

he won a   Newberry Caldecot award.

            D

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions

Question 71:  If it hadn’t been for his carelessness, we would have finished the work.
A. He was careless because he hadn’t finished the work.   

B. If her were careful, we would finish the work. 

C. If he had been more careful, we would have completed the work.

D. Because he wasn’t careless, we didn’t finish the work.

Question 72: The hostess made every effort to see that her guests got the food and drinks they wanted.

A. The hostess was reluctant to offer her guests food and drinks. 

B. The hostess tried hard to please her guests. 

C. The guests refused the food and drinks prepared by the hostess. 

D. Neither the guests nor the hostess had food or drinks. 

Question 73: The meeting was put off because of pressure of time.   

A. The meeting started earlier because people wanted to leave early.

B. The meeting was planned to start late because of time pressure.

C. The meeting lasted much longer than usual.  

D. There was not enough time to hold the meeting.

Question 74: Twice as many men as women are insurance agents.   

A. More men than women have insurance. 

B. Male insurance agents outnumber female agents. 

C. Women are twice as likely as men to have sold insurance.

D. Insurance is twice as difficult to sell to women as to men. 

Question 75: Most people get fewer colds in the summer than in the winter.
A. A person is more likely to get a cold in the winter than in the summer.

B. More people have summer colds than winter colds.

C. People get colder in the summer than in the winter.

D. The winter is much colder than the summer.            

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that expresses the best meaning formed by the given words
Question 76:. No/ doubt/ Alison/ promote

A. It’s no doubt Alison will be promoting.

B. There’s no doubt that Alison will be promoted.

C. There’s no doubt Alison will promote.

D. It’s no doubt that Alison is promoted.

Question 77: your organization/ possible/ conference/ place
A. Your organization made it possible to take place this conference.

B. Your organization made possible for this conference to take place.

C. Your organization made it possible this conference to take place.

D. Your organization made it possible for this conference to take place.

Question 78: when/ you/ make/ mind/ university/ attend?

A. When are you going to make up your mind about which university to attend?

B. When will you make up your mind which university to attend?

C. When are you going to make your mind about which university to attend?

D. When are you making up your mind about university to attend?    

Question 79: I/ not see/ point/ rule/ we/ not/ cycle/ school    

A. I can’t see the point of this rule which we don’t cycle to school.

B. I can’t see the point of this rule which says we can’t cycle to school. 

C. I don’t see the point of this rule which we are not allowed to cycle to school.

D. I can’t see the point of rule which says we can’t cycle to school. 

Question 80: despite / short day/ we/ complain/ much/ do
A. Despite such a short day, we tend to complain about having too much to do.

B. Despite such a short day, we tend to complain having too much to do.     

C. Despite a short day, we tend to complain about too much to do.

D. Despite such short day, we tend to complain about having too much do.

THE END
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Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following word.
1. A. comment

B. contest

C. income

D. behave

2. A. Parisian

B. unit


C. united

D. combine

3. A. schedule

B. hello


C. until


D. throughout

4. A. agriculture

B. ceremony

C. manufacture
D. television 


5. A. gazelle


B. genuine

C. homesick

D. recipe

Mark the letter A,B,C, or D on your answer sheet to indicate the  correct answer to each of the following question 

6. By the end of next month, we _______ our English course.

        A. have completed
B. will be completed

        C. will have completed
D. completed

7. If you had worked harder, you _______.

        A. will not be sacked
B. are not sacked

        C. will not have been sacked
D. would not have been sacked

8. It was _______ we could not go out.

         A. such cold that
       B. so cold that
C. very so cold
D. too cold that

9. Nobody can prevent us from _______ good things.

         A. do
        B. doing
C. did
D. done

10. Mr. Pike _______ English at our school for 20 years before he retired last year.

         A. is teaching
        B. was teaching
C. has been teaching
D. had been teaching

11. The requirement is that the applicant must have good ___________ skills.


A. verbal



B. verbalized

C. non-verbal

D. verbally

12. We sent some flowers as a ____________of sympathy to the parents of the child.


A. action



B. gesture

C. expression

D. symbol

13. I asked Johnny where the other classmates were and he ______________ in the direction of the school garden.


A. nodded


B. guided

C. told



D. described

14. My Dad is always willing to give a hand _____________ cleaning the house.



A. of
B. about
C. in
D. with
15. TONNY: “I have never seen such a perfect thing on you”.- 

            CLARE: “________________________.”



A. Haven’t you?





B. I am so happy




C. Really?






D. Thank you. That’s nice compliment.

16. Find the mistake:

We requested the superintendent of the building to clean up the storage room in the basement













A                                        B

 so that the children had enough space for their bicycles.

     C


         D could have

17. Directly in front of them _________________.

A. did a great castle stand



B. stood a great castle

C. a great castle stood




D. a great castle did stand

18. Children have to stay _________ at school until they are 15.

A. in




B. on


C. to



D. with

19. Of the two cars that the Smiths have, the Plymouth is, without any question, the cheapest to run.

        A




   B





  C
       D

                                                                                The cheaper

20. He felt very tired. However, he was determined to continue to climb up the mountain.
A. He felt so tired that he was determined to continue to climb up the mountain.
B. Feeling very tired, he was determined to continue to climb up the mountain.
C. As the result of his tiredness, he was determined to continue to climb up the mountain.
D. Tired as he might feel, he was determined to continue to climb up the mountain.
21. It was not only cold but it also snowed a few days ago.

A. It was not only cold but did it also snow a few days ago.

B. Was it not only cold but it also snowed a few days ago.

C. Not only it was cold but did it also snow a few days ago.

D. Not only was it cold but it also snowed a few days ago.

22. Did you remember _______________ seats for the theatre tomorrow?

A. book


B. to book


C. booking

D. for books

23. We bought two bicycles. Neither of them worked well.

Which sentence expresses the same idea as above? 



A. We bought two bicycles which neither of worked well.


B. We bought two bicycles neither of which worked well.


C. We bought two bicycles, of which neither worked well.


D. We bought two bicycles, neither of which worked well.

24. The door was so heavy that the child couldn’t push it open.

A. The door was too heavy to push it open.

B. The door was too heavy for the child to push it open.

C. The door was too heavy for the child to push open.

D. The door was too heavy for the child to open it.

25. I‘ve really enjoyed talking to you, and I need to be going.

     A

            B
    C

                D

26. My uncle is in bad _________ now because he smokes a lot.

A. situation


B. circumstance

C. plight

D. condition

27. Our urge to classify different life forms and give us names seems to be as old as the human race.

(A)                                                               (B)            (C)


(D)

28. It is ____________ that he knows.

A. possible

B. probable

C. likely


D. able

29. The new American administration is still hesitating about _______________.

A. why so many new taxes had been imposed

B. whether to increase expenditure on education

C. how the problem of famine in Asia had been overcome.

D. which programme had been approved by the committee.

30. The Prime Minister made no ______ to the incident in his speech.

A. reference      
B. mention       

C. impression    
D. gesture

31. Air consists of a combination of nitrogen and oxygen ______________ in place by gravity.

A. are holding                    B. being hold

C. holding                   D. held

32. ________ discussion of group personality would be complete without a consideration of national character. 

A. None

B. Not



C. No


D. Nothing

33. The coal is the world's most abundant fossil   fuel. 

  A
             B                                  C

D

34. Manufacturers often sacrifice quality ________. 

A. for a larger profit margin



B. in place of to earn more money

C. to gain more quantities of money


D. and instead earn a bigger amount of profit

35. The choir stood in four rows according to their
          heights

A. respected


B. respective

C. respectable


D. respectful

36. All work and no play __________________.

A. makes Jack a dull boy


B. makes a dull boy Jack 

C. make Jack a dull boy


D. make a dull boy Jack

37. It is in the city ________________________________.

A. that he lives 
B. where he lives

C. that he lived

D. All are correct

38. The chart  ____________________________ in 1998 and 2000.

A. indicates the internet users’ percentage of all ages

B. shows the percentage of the internet users of all ages 

C. shows all ages of the internet users percentage

D. says the percentage of the internet users 

39. “You broke the window, Tom” the aunt said angrily.

A. The aunt reproached Tom for breaking the window.

B. The aunt scolded Tom for breaking the window.

C. The aunt accused the boy for breaking the window.

D. The aunt swore that the boy had broken the window.

40. Noise pollution generally receives less attention than _________ air pollution.

A. does


B. it does



C. over


D. it does over

41. We prefer _________________________________.


A. going to market than cooking

B. to go to market than to cook


C. going to market to cook


D. to go to market than cooking

42. “I’m sorry I made a mistake.” said he.

A. He blamed her for making a mistake. 

B. He said he had made a mistake.

C. He admitted that he had made a mistake. 
D. He apologized for making a mistake.

43. She demanded that she ______________ allowed to meet her son in prison.


A. was


B. would be


C. be


D. B and C

44. The pen ___________ so please throw it away.

A. won’t write
B. doesn’t write

C. can’t write
D. isn’t written

45. ______________ occasions for congratulations

A. birthdays that usually considered


B. usually considering birthday


C. birthday are usually considered


D. that considered birthdays usually

46. If I _____________ you, I wouldn’t have told her the truth.

A. had been

B. should be


C. were


D. am

47. It is very difficult for the foreigners _________ to speak Vietnamese to travel alone in Vietnam.

A. not being able

B. not to be able

C. being not able

D. not able 

48.  “Excuse me, where is the post office?” “ ____________________”

A. I beg you pardon, sir



B. Think nothing of it

C. Yes, it’s near here.




D. No sweat

Mark the letter A,B,C, or D on your answer sheet to indicate the word  or phrase that is OPPOSITE in meaning to the underlined part.

49. The distinction between schooling and education implied by this remark is important.

A. explicit

B. implicit


C. obscure



D. odd

50. Biologists long regarded it as an example of adaptation by natural selection, but for physicists it bordered on the miraculous

A. adjustment

B. agility


C. flexibility



D. inflexibility

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct word for each of the blanks.

The Mediterranean has been described as (51) ___________ largest swimming pool. (52) ________, it can also be described now as the world’s dirtiest sewer, full of rubbish, oil, chemicals and waste of all  kinds.  Unfortunately, (53) ___________  countries  bordering  the Mediterranean differ greatly in their (54)___________ to this problem. While  some  countries  want  to  start  cleaning  up  the Mediterranean, (55) _________have begun building new ports to develop their oil wells and natural gas fields. Industries have now grown in all the countries (56) ____________ the Mediterranean. It will (57) __________ a century for all the water in the Mediterranean to drain into the Atlantic Ocean, and (58) ___________ by clean water. Three great rivers, the Nile, Po, and Rhone, all (59) ________ into the Mediterranean, carrying lots of pollutants into the sea and making (60)__________ very dangerous for everyone who swims in the Mediterranean and who eats fish caught there.

51. A. world’s


B. the world’s

C. world

D. the world

52. A. Therefore


B. However

C. On the contrary
D. Whereas

53. A. a great deal of

B. Most of

C. most

D. a large amount of

54. A. bias



B. views


C. attitudes

D. opinions

55. A. other


B. another


C. the others

D. others

56. A. surrounding

B. around


C. in


D. on

57. A. spend


B. need


C. take


D. last

58. A. replace


B. replaced


C. to replace

D. be replaced

59. A. flow


B. blow


C. flowing

D. blowing

60. A. them


B. people


C. it


D. all

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions

In the world of birds, bill design is a prime example of evolutionary fine-tuning. Shorebirds such as oystercatchers use their bills to pry open the tightly sealed shells of their prey, hummingbirds have stilettolike bills to probe the deepest nectar-bearing Line flowers, and kiwis smell out earthworms thanks to nostrils located at the tip of their beaks. But few birds are more intimately tied to their source of sustenance than are crossbills. Two species of these finches, named for the way the upper and lower parts

of their bills cross, rather than meet in the middle, reside in the evergreen forests of North America and feed on the seeds held within the cones of coniferous trees.

The efficiency of the bill is evident when a crossbill locates a cone. Using a lateral motion of its lower mandible, the bird separates two overlapping scales on the cone and exposes the seed. The crossed mandibles enable the bird to exert a powerful biting force at the bill tips, which is critical for maneuvering them between the scales and spreading the scales apart. Next, the crossbill snakes its long tongue into the gap and draws out the seed. Using the combined action of the bill and tongue, the bird cracks open and discards the woody seed covering and swallows the nutritious inner kernel. This whole process takes but a few seconds and is repeated hundreds of times a day.

The bills of different crossbill species and subspecies vary ― some are stout and deep, others more slender and shallow. As a rule, large-billed crossbills are better at securing seeds from large cones, while small-billed crossbills are more deft at removing the seeds from small, thin-scaled cones. Moreover, the degree to which cones are naturally slightly open or tightly closed helps determine which bill design is the best.

One anomaly is the subspecies of red crossbill known as the Newfoundland crossbill. This bird has a large, robust bill, yet most of Newfoundland's conifers have small cones, the same kind of cones that the slender-billed white-wings rely on.

61 What does the passage mainly discuss?

A. The importance of conifers in evergreen forests

B. The efficiency of the bill of the crossbill

C. The variety of food available in a forest

D. The different techniques birds use to obtain food

62. Which of the following statements best represents the type of "evolutionary fine-tuning" mentioned in line 1?

A. Different shapes of bills have evolved depending on the available food supply.

B. White-wing crossbills have evolved from red crossbills.

C. Newfoundland's conifers have evolved small cones.

D. Several subspecies of crossbills have evolved from two species.

63. Why does the author mention oystercatchers, hummingbirds, and kiwis in lines 2-3?

A. They are examples of birds that live in the forest.

B. Their beaks are similar to the beak of the crossbill.

C. They illustrate the relationship between bill design and food supply.

D. They are closely related to the crossbill.

64. Crossbills are a type of

A. shorebird 

B. hummingbird
C. kiwi 

D. finch

65. The word "gap" in line 12 is closest in meaning to

A. opening 

B. flower

C. mouth 

D. tree

66. The word "others" in line 15 refers to

A. bills 

B. species

C. seeds 

D. cones

67. The word "robust" in line 21 is closest in meaning to

A. strong 

B. colorful 

C. unusual 

D. sharp

68. In what way is the Newfoundland crossbill an anomaly?

A. It is larger than the other crossbill species.

B. It uses a different technique to obtain food.

C. The size of its bill does not fit the size of its food source.

D. It does not live in evergreen forests.

69. The final paragraph of the passage will probably continue with a discussion of

A. other species of forest birds

B. the fragile ecosystem of Newfoundland

C. what mammals live in the forests of North America

D. how the Newfoundland crossbill survives with a large bill

70. Where in the passage does the author describe how a crossbill removes a seed from its cone?

A. The first paragraph 

B. The second paragraph

C. The third paragraph 

D. The fourth paragraph     

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions
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	     Barbed wire, first patented in the United States in 1867, played an important part in the development of American farming, as it enabled the settlers to make effective fencing to enclose their land and keep cattle away from their crops. This had a considerable effect on cattle ranching, since the herds no longer had unrestricted use of the plains for grazing, and the fencing led to conflict between the farmers and the cattle ranchers.

     Before barbed wire came into general use, fencing was often made from serrated wire, which was unsatisfactory because it broke easily when under strain, and could snap in cold weather due to contraction. The first practical machine for producing barbed wire was invented in 1874 by an Illinois farmer, and between then and the end of the century about 400 types of barbed wire were devised, of which only about a dozen were ever put to practical use.

     Modern barbed wire is made from mild steel, high-tensile steel, or aluminium. Mild steel and aluminium barbed wire have two strands twisted together to form a cable which is stronger than single-strand wire and less affected by temperature changes. Single-strand wire, round or oval, is made from high-tensile steel with the barbs crimped or welded on. The steel wires used are galvanized ― coated with zinc to make them rustproof. The two wires that make up the line wire or cable are fed separately into a machine at one end. They leave it at the other end twisted together and barbed.

     The wire to make the barbs is fed into the machine from the sides and cut to length by knives that cut diagonally through the wire to produce a sharp point. This process continues automatically, and the finished barbed wire is wound onto reels, usually made of wire, in lengths of 400 meters or in weights of up to 50 kilograms. A variation of barbed wire is also used for military purposes. It is formed into long coils or entanglements called concertina wire.


71. What is the main topic of the passage?

A. Cattle ranching in the United States
B. A type of fencing

C. Industrial uses of wire


D. A controversy over land use

72. The word "unrestricted" in line 4 is closest in meaning to

A. unsatisfactory

B. difficult

C. considerable
D. unlimited

73. The word "snap" in line 7 could best be replaced by which of the following?

A. freeze


B. click

C. loosen 

D. break

74. What is the benefit of using two-stranded barbed wire?

A. Improved rust-resistance 


B. Increased strength

C. More rapid attachment of barbs 

D. Easier installation

75. According to the author, the steel wires used to make barbed wire are specially processed to

A. protect them against rust


B. make them more flexible

C. prevent contraction in cold weather
D. strengthen them

76. The word "fed" in line 18 is closest in meaning to

A. put



B. eaten

C. bitten

D. nourished

77. The knives referred to in line 18 are used to

A. separate double-stranded wire
B. prevent the reel from advancing too rapidly

C.  twist the wire


D. cut the wire that becomes barbs

78. What is the author’s purpose in the third paragraph?

A. To explain the importance of the wire

B. To outline the difficulty of making the wire

C.  To describe how the wire is made

D. To suggest several different uses of the wire

79. According to the passage, concertina wire is used for

A. livestock management

B. international communications

C. prison enclosures


D. military purposes

80.  Which of the following most closely resembles the fencing described in the passage?


A. 

        

B.


       

C.  



D. 

The end.
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Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following word.
61. A. comment

B. contest

C. income

D. behave
62. A. Parisian

B. unit


C. united

D. combine

63. A. schedule

B. hello


C. until


D. throughout

64. A. agriculture

B. ceremony

C. manufacture
D. television 

65. A. gazelle


B. genuine

C. homesick

D. recipe

Mark the letter A,B,C, or D on your answer sheet to indicate the  correct answer to each of the following question 

66. By the end of next month, we _______ our English course.

        A. have completed
B. will be completed

        C. will have completed
D. completed

67. If you had worked harder, you _______.

        A. will not be sacked
B. are not sacked

        C. will not have been sacked
D. would not have been sacked

68. It was _______ we could not go out.

         A. such cold that
       B. so cold that
C. very so cold
D. too cold that

69. Nobody can prevent us from _______ good things.

         A. do
        B. doing
C. did
D. done

70. Mr. Pike _______ English at our school for 20 years before he retired last year.

         A. is teaching
        B. was teaching
C. has been teaching
D. had been teaching
71. The requirement is that the applicant must have good ___________ skills.


A. verbal



B. verbalized

C. non-verbal

D. verbally

72. We sent some flowers as a ____________of sympathy to the parents of the child.


A. action



B. gesture

C. expression

D. symbol

73. I asked Johnny where the other classmates were and he ______________ in the direction of the school garden.


A. nodded


B. guided

C. told



D. described

74. My Dad is always willing to give a hand _____________ cleaning the house.



A. of
B. about
C. in
D. with
75. TONNY: “I have never seen such a perfect thing on you”.- 

            CLARE: “________________________.”



A. Haven’t you?





B. I am so happy




C. Really?






D. Thank you. That’s nice compliment.
76. Find the mistake:

We requested the superintendent of the building to clean up the storage room in the basement













A                                        B

 so that the children had enough space for their bicycles.

     C


         D could have
77. Directly in front of them _________________.

A. did a great castle stand



B. stood a great castle
C. a great castle stood




D. a great castle did stand

78. Children have to stay _________ at school until they are 15.

A. in




B. on


C. to



D. with

79. Of the two cars that the Smiths have, the Plymouth is, without any question, the cheapest to run.

        A




   B





  C
       D

                                                                                The cheaper
80. He felt very tired. However, he was determined to continue to climb up the mountain.
A. He felt so tired that he was determined to continue to climb up the mountain.
B. Feeling very tired, he was determined to continue to climb up the mountain.
C. As the result of his tiredness, he was determined to continue to climb up the mountain.
D. Tired as he might feel, he was determined to continue to climb up the mountain.
81. It was not only cold but it also snowed a few days ago.

A. It was not only cold but did it also snow a few days ago.

B. Was it not only cold but it also snowed a few days ago.

C. Not only it was cold but did it also snow a few days ago.

D. Not only was it cold but it also snowed a few days ago.

82. Did you remember _______________ seats for the theatre tomorrow?

A. book



B. to book



C. booking


D. for books

83. We bought two bicycles. Neither of them worked well.

Which sentence expresses the same idea as above? 



A. We bought two bicycles which neither of worked well.


B. We bought two bicycles neither of which worked well.


C. We bought two bicycles, of which neither worked well.


D. We bought two bicycles, neither of which worked well.

84. The door was so heavy that the child couldn’t push it open.

A. The door was too heavy to push it open.

B. The door was too heavy for the child to push it open.

C. The door was too heavy for the child to push open.

D. The door was too heavy for the child to open it.

85. I‘ve really enjoyed talking to you, and I need to be going.

     A

            B
    C

                D

86. My uncle is in bad _________ now because he smokes a lot.

A. situation


B. circumstance


C. plight


D. condition
87. Our urge to classify different life forms and give us names seems to be as old as the human race.

(A)                                                               (B)            (C)


(D)

                                                                   them

88. It is ____________ that he knows.

A. possible

B. probable


C. likely



D. able

89. The new American administration is still hesitating about _______________.

A. why so many new taxes had been imposed

B. whether to increase expenditure on education

C. how the problem of famine in Asia had been overcome.

D. which programme had been approved by the committee.

90. The Prime Minister made no ______ to the incident in his speech.

A. reference      
B. mention       

C. impression    

D. gesture

91. Air consists of a combination of nitrogen and oxygen ______________ in place by gravity.

A. are holding                    B. being hold

C. holding                        D. held
92. ________ discussion of group personality would be complete without a consideration of national character. 

A. None



B. Not



C. No




D. Nothing

93. The coal is the world's most abundant fossil   fuel. 

  A


B




    C

D

94. Manufacturers often sacrifice quality ________. 

A. for a larger profit margin



B. in place of to earn more money

C. to gain more quantities of money


D. and instead earn a bigger amount of profit

95. The choir stood in four rows according to their
          heights

A. respected


B. respective

C. respectable


D. respectful

96. All work and no play __________________.

A. makes Jack a dull boy


B. makes a dull boy Jack 

C. make Jack a dull boy


D. make a dull boy Jack

97. It is in the city ________________________________.

A. that he lives 
B. where he lives

C. that he lived

D. All are correct

98. The chart  ____________________________ in 1998 and 2000.

A. indicates the internet users’ percentage of all ages

B. shows the percentage of the internet users of all ages 

C. shows all ages of the internet users percentage

D. says the percentage of the internet users 

99. “You broke the window, Tom” the aunt said angrily.

A. The aunt reproached Tom for breaking the window.

B. The aunt scolded Tom for breaking the window.

C. The aunt accused the boy for breaking the window.

D. The aunt swore that the boy had broken the window.

100. Noise pollution generally receives less attention than _________ air pollution.

A. does


B. it does



C. over


D. it does over

101. We prefer _________________________________.


A. going to market than cooking

B. to go to market than to cook


C. going to market to cook


D. to go to market than cooking

102. “I’m sorry I made a mistake.” said he.

A. He blamed her for making a mistake. 

B. He said he had made a mistake.

C. He admitted that he had made a mistake. 
D. He apologized for making a mistake.

103. She demanded that she ______________ allowed to meet her son in prison.


A. was


B. would be


C. be


D. B and C

104. The pen ___________ so please throw it away.

A. won’t write
B. doesn’t write

C. can’t write
D. isn’t written

105. ______________ occasions for congratulations

A. birthdays that usually considered


B. usually considering birthday


C. birthday are usually considered


D. that considered birthdays usually

106. If I _____________ you, I wouldn’t have told her the truth.

A. had been

B. should be


C. were


D. am

107. It is very difficult for the foreigners _________ to speak Vietnamese to travel alone in Vietnam.

A. not being able

B. not to be able

C. being not able

D. not able 

108.  “Excuse me, where is the post office?” “ ____________________”

A. I beg you pardon, sir



B. Think nothing of it

C. Yes, it’s near here.




D. No sweat

Mark the letter A,B,C, or D on your answer sheet to indicate the word  or phrase that is OPPOSITE in meaning to the underlined part.

109. The distinction between schooling and education implied by this remark is important.

A. explicit

B. implicit


C. obscure



D. odd

110. Biologists long regarded it as an example of adaptation by natural selection, but for physicists it bordered on the miraculous

A. adjustment

B. agility


C. flexibility



D. inflexibility
Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct word for each of the blanks.

The Mediterranean has been described as (51) ___________ largest swimming pool. (52) ________, it can also be described now as the world’s dirtiest sewer, full of rubbish, oil, chemicals and waste of all  kinds.  Unfortunately, (53) ___________  countries  bordering  the Mediterranean differ greatly in their (54)___________ to this problem. While  some  countries  want  to  start  cleaning  up  the Mediterranean, (55) _________have begun building new ports to develop their oil wells and natural gas fields. Industries have now grown in all the countries (56) ____________ the Mediterranean. It will (57) __________ a century for all the water in the Mediterranean to drain into the Atlantic Ocean, and (58) ___________ by clean water. Three great rivers, the Nile, Po, and Rhone, all (59) ________ into the Mediterranean, carrying lots of pollutants into the sea and making (60)__________ very dangerous for everyone who swims in the Mediterranean and who eats fish caught there.

111. A. world’s


B. the world’s

C. world

D. the world

112. A. Therefore


B. However

C. On the contrary
D. Whereas

113. A. a great deal of

B. Most of

C. most

D. a large amount of

114. A. bias



B. views

C. attitudes

D. opinions

115. A. other


B. another

C. the others

D. others
116. A. surrounding

B. around

C. in


D. on

117. A. spend


B. need

C. take

D. last

118. A. replace


B. replaced

C. to replace

D. be replaced
119. A. flow


B. blow

C. flowing

D. blowing

120. A. them


B. people

C. it


D. all

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions

In the world of birds, bill design is a prime example of evolutionary fine-tuning. Shorebirds such as oystercatchers use their bills to pry open the tightly sealed shells of their prey, hummingbirds have stilettolike bills to probe the deepest nectar-bearing Line flowers, and kiwis smell out earthworms thanks to nostrils located at the tip of their beaks. But few birds are more intimately tied to their source of sustenance than are crossbills. Two species of these finches, named for the way the upper and lower parts

of their bills cross, rather than meet in the middle, reside in the evergreen forests of North America and feed on the seeds held within the cones of coniferous trees.

The efficiency of the bill is evident when a crossbill locates a cone. Using a lateral motion of its lower mandible, the bird separates two overlapping scales on the cone and exposes the seed. The crossed mandibles enable the bird to exert a powerful biting force at the bill tips, which is critical for maneuvering them between the scales and spreading the scales apart. Next, the crossbill snakes its long tongue into the gap and draws out the seed. Using the combined action of the bill and tongue, the bird cracks open and discards the woody seed covering and swallows the nutritious inner kernel. This whole process takes but a few seconds and is repeated hundreds of times a day.

The bills of different crossbill species and subspecies vary ― some are stout and deep, others more slender and shallow. As a rule, large-billed crossbills are better at securing seeds from large cones, while small-billed crossbills are more deft at removing the seeds from small, thin-scaled cones. Moreover, the degree to which cones are naturally slightly open or tightly closed helps determine which bill design is the best.

One anomaly is the subspecies of red crossbill known as the Newfoundland crossbill. This bird has a large, robust bill, yet most of Newfoundland's conifers have small cones, the same kind of cones that the slender-billed white-wings rely on.

61 What does the passage mainly discuss?

A. The importance of conifers in evergreen forests

B. The efficiency of the bill of the crossbill

C. The variety of food available in a forest

D. The different techniques birds use to obtain food

62. Which of the following statements best represents the type of "evolutionary fine-tuning" mentioned in line 1?

A. Different shapes of bills have evolved depending on the available food supply.

B. White-wing crossbills have evolved from red crossbills.

C. Newfoundland's conifers have evolved small cones.

D. Several subspecies of crossbills have evolved from two species.

63. Why does the author mention oystercatchers, hummingbirds, and kiwis in lines 2-3?

A. They are examples of birds that live in the forest.

B. Their beaks are similar to the beak of the crossbill.

C. They illustrate the relationship between bill design and food supply.

D. They are closely related to the crossbill.

64. Crossbills are a type of

A. shorebird 

B. hummingbird
C. kiwi 

D. finch
65. The word "gap" in line 12 is closest in meaning to

A. opening 

B. flower

C. mouth 

D. tree

66. The word "others" in line 15 refers to

A. bills 

B. species

C. seeds 

D. cones

67. The word "robust" in line 21 is closest in meaning to

A. strong 

B. colorful 

C. unusual 

D. sharp

68. In what way is the Newfoundland crossbill an anomaly?

A. It is larger than the other crossbill species.

B. It uses a different technique to obtain food.

C. The size of its bill does not fit the size of its food source.

D. It does not live in evergreen forests.

69. The final paragraph of the passage will probably continue with a discussion of

A. other species of forest birds

B. the fragile ecosystem of Newfoundland

C. what mammals live in the forests of North America

D. how the Newfoundland crossbill survives with a large bill

70. Where in the passage does the author describe how a crossbill removes a seed from its cone?

A. The first paragraph 

B. The second paragraph

C. The third paragraph 

D. The fourth paragraph     

Read the following passage and mark the letter A,B,C, D on your answer sheet to indicate the correct answer to each of the following questions
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	     Barbed wire, first patented in the United States in 1867, played an important part in the development of American farming, as it enabled the settlers to make effective fencing to enclose their land and keep cattle away from their crops. This had a considerable effect on cattle ranching, since the herds no longer had unrestricted use of the plains for grazing, and the fencing led to conflict between the farmers and the cattle ranchers.

     Before barbed wire came into general use, fencing was often made from serrated wire, which was unsatisfactory because it broke easily when under strain, and could snap in cold weather due to contraction. The first practical machine for producing barbed wire was invented in 1874 by an Illinois farmer, and between then and the end of the century about 400 types of barbed wire were devised, of which only about a dozen were ever put to practical use.

     Modern barbed wire is made from mild steel, high-tensile steel, or aluminum. Mild steel and aluminium barbed wire have two strands twisted together to form a cable which is stronger than single-strand wire and less affected by temperature changes. Single-strand wire, round or oval, is made from high-tensile steel with the barbs crimped or welded on. The steel wires used are galvanized ― coated with zinc to make them rustproof. The two wires that make up the line wire or cable are fed separately into a machine at one end. They leave it at the other end twisted together and barbed.

     The wire to make the barbs is fed into the machine from the sides and cut to length by knives that cut diagonally through the wire to produce a sharp point. This process continues automatically, and the finished barbed wire is wound onto reels, usually made of wire, in lengths of 400 meters or in weights of up to 50 kilograms. A variation of barbed wire is also used for military purposes. It is formed into long coils or entanglements called concertina wire.


71. What is the main topic of the passage?

A. Cattle ranching in the United States
B. A type of fencing

C. Industrial uses of wire


D. A controversy over land use

72. The word "unrestricted" in line 4 is closest in meaning to

A. unsatisfactory

B. difficult

C. considerable
D. unlimited
73. The word "snap" in line 7 could best be replaced by which of the following?

A. freeze


B. click

C. loosen 

D. break
74. What is the benefit of using two-stranded barbed wire?

A. Improved rust-resistance 


B. Increased strength

C. More rapid attachment of barbs 

D. Easier installation

75. According to the author, the steel wires used to make barbed wire are specially processed to

A. protect them against rust


B. make them more flexible

C. prevent contraction in cold weather
D. strengthen them

76. The word "fed" in line 18 is closest in meaning to

A. put



B. eaten

C. bitten

D. nourished

77. The knives referred to in line 18 are used to

A. separate double-stranded wire
B. prevent the reel from advancing too rapidly

C.  twist the wire


D. cut the wire that becomes barbs

78. What is the author’s purpose in the third paragraph?

A. To explain the importance of the wire

B. To outline the difficulty of making the wire

C.  To describe how the wire is made

D. To suggest several different uses of the wire

79. According to the passage, concertina wire is used for

A. livestock management

B. international communications

C. prison enclosures


D. military purposes

80.  Which of the following most closely resembles the fencing described in the passage?


A. 

        

B.


       

C.  



D. 

The end.

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1:  A. sympathetic

B. unbelievable
C. advantageous
D. circumstance
Question 2:  A. imperative

B. recently

C. confidence

D. hopelessness

Question 3:  A. identity

B. approval

C. reference

D. dismissive

Question 4:  A. preciseness

B. passenger

C. chaotic

D. withdrawal

Question 5   A. unconscious

B. accuracy

C. decisive

D. economy


Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.

Question 6. Having our car repaired by the mechanic whose telephone number you had given us, we continued our journey.            A                            B                          C                                            D

Question 7. We do appreciate your help. If it hadn’t been for you, we would have been unsuccessful to complete the project.    A                        B                      C                                                                D

Question 8. We have bought a few pieces of furniture in order your stay here  should be more comfortable.


               
A
B
C
D

Question 9. Unlike  other architects of the early modern movement, Alva Alto stressed informality, 


          A                B







   C
personal expression, romantic, and regionality in his work .



           D

Question 10. It’s not that I don’t like her, but I object to be called that by her. I am  not her “buddy”, am I?


 
A
B
C
D
Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. 

Question 11: _________ committed the crime is unknown.


A. He 


B. Whether he

C. What he

D. That he

Question 12: It is the imperativeness that anyone of us  ​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​__________ how to behave properly in different cultures. – “ When in Rome do as Romans do”, goes an English saying


A. learn


B. learns

C. will learn

D. must learn

Question 13: 
_“ What are you going to buy in this store?” 



_ “ Nothing , _________ want is too much expensive”


A. That I

B. What I

C. That what I

D. What do I

Question 14: “ Let me do that for you”   _ “ _________”


A. Don’t worry yourself



B. Please don’t bother

C. It’s not for you



D. Make yourself at home

Question 15: “ Could you put me _______ Mr. Rogers, please?”


A. to


B. with


C. through to

D. in connection with

Question 16: Submit to me, ________ you’ll live.


A. or


B. and


C. but


D. so

Question 17: We don’t know who wrote the letter. It’s ________ 


A. nameless

B. anonymous
 nac danh

C. empty

D. blank

Question 18:_ “ I’m afraid I’ve broken your umbrella”      _ “ ___________”


A. Don’t mention it
B. Not at all

C. It’s your fault
D. Don’t worry about it

Question 19: Every man, woman and child in this line ________ to sign the forms in order to complete the registration process.


A. requires

B. require

C. is required

D. are required

Question 20: - “________.”

- “No. I can manage. Thank you.”

A. Can you give me a hand with this please? 

B. Do you need their support?

C. Can you manage the job? 



D. Let me carry the big bag for you.

Question 21: I’m sorry I opened  your handbag, but I _________ it for mine.


A. took


B. confused

C. recognized

D. imagined

Question 22: __________ caused certain diseases such as malaria was not known until the early 20th century.


A. That mosquitoes
B. Mosquitoes

C. Since mosquitoes
D. Mosquitoes which

Question 23: As far as I’m ________ , it’s quite all right for you to leave early. 


A. concerned

B. regarded

C. consulted

D. bothered

Question 24. In fact the criminals _________in to because the front door was wide open and so they just walked in.




A. needn't have broken

B. didn't need break


      C. didn't need to break

D. needn't to have broken

Question 25.   -  “Sorry, I’m late”  
- “_______________”


  

A. You are welcome

B. No, I don’t mind





C. All right. Well done

D. Not to worry. Better late than never
Question 26. After Jill had realized that the new computer was not what she really wanted, she ___it for an other one.




A. dropped
          B. traded
              
C. turned down
        
D. bought

Question 27. “If only I hadn’t lent him all my money!”   -“_____________”




A. Well, you did, so it’s no use crying over spilt milk.

B. All right. You will be OK.




C. Sorry, I have no idea.


D. I’m afraid you will have to do it.

Question 28. Only if you do what you tell others ___________ as they are told.



A. will they do
         B. they will do
                    C. will they do


 D. won't they

Question 29. “Do you have a minute, Dr Keith?”  
 - “____________________”




A. Well. I’m not sure when

B. Good, I hope so      




C. Sure. What’s the problem?         

D. Sorry, I haven’t got it here.

Question 30. _________of transportation has given someone the idea for a new type of toy.




A. Mostly forms          B. Most every form
C. Almost forms

D. Almost every form

Question 31. Helen is ___________ seafood, so she never tries these delicious dishes.




A. allergic to 
        B. tired of

C. keen on


D. preferable to

Question 32. ________ you to be offered that job, would you have to move to another city?




A. Should
        B. Were

C. Had


D. Provided that

Question 33. The doctors are examining the dog __________the child for rabies, which is a dangerous disease ___________immediate treatment.




A. biting/ required      B. bitten/ required
C. bitten/ requiring
 
D. biting/ requiring

Question 34. A quick look would reveal that in Sweden the number of computers, at 500 is _________ the figure for television.



A. almost as big as         B. almost many as
C. almost the same as
 D. almost much as

Question 35________that we all went for a picnic.

A. It was such a fine weather

B. So fine the weather


C. Such a fine weather was it

D. So fine was the weather
Question 36: ___________, 70 percent alcohol is more effective than 100 percent alcohol.


A. An antiseptic used

B. How an antiseptic is used


C. When used as an antiseptic

D. An antiseptic when used

Question 37: I feel terrible, I didn’t sleep ___________ last night.


A. a jot
          B. a wink

C. an inch


 D. an eye

Question 38. - What do you want to do this summer?


+ I think we should go somewhere ________ has plenty of sun and sand.

A. who 
          B. where

C. when 


  D. that
Question 39. Going on this diet has realy ________ me good. I've lost weight and I feel fantanstic!

A. made 


B. taken 

       C. done 


  D. had

Question 40. Designers are experimenting with a new material ________ flexibly with lightness.


A. is combining
           B. combining 
 C. combines 


   D. combination of
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

MOBILE PHONES: Are they about to transform our lives?

We love them so much that some of us sleep with them under the pillow, yet we are increasingly concerned that we cannot escape their electronic reach. We use them to convey our most intimate secrets, yet we worry that they are a threat to our privacy. We rely on them more than the Internet to cope with modern life, yet many of us don’t believe advertisements saying we need more advanced services.

Sweeping aside the doubts that many people feel about the benefits of new third generations phones and fears over the health effects of phone masts, a recent report claims that the long-term effects of new mobile technologies will be entirely positive so long as the public can be convinced to make use of them. Research about users of mobile phones reveals that the mobile has already moved beyond being a mere practical communications tool to become the backbone of modern social life, from love affairs to friendship to work.

The close relationship between user and phone is most pronounced among teenagers, the report says, who regard their mobiles as an expression of their identity. This is partly because mobiles are seen as being beyond the control of parents. But the researchers suggest that another reason may be that mobiles, especially text messaging was seen as a way of overcoming shyness. The impact of phones, however, has been local rather than global, supporting existing friendship and networks, rather than opening users to a new broader community. Even the language of texting in one area can be incomprehensible to anybody from another area.
Among the most important benefits of using mobiles phones, the report claims, will be a vastly improved mobile

infrastructure, providing gains throughout the economy, and the provision of a more sophisticated location-based services for users. The report calls on government to put more effort into the delivery of services by mobile phone, with suggestion including public transport and traffic information and doctors’ text messages to remind patients of appointments. There are many possibilities. At a recent trade fair in Sweden, a mobile navigation product was launched. When the user enters a destination, a route is automatically downloaded to their mobile and presented by voiced, pictures and maps as they drive. In future, these devices will also be able to plan around congestion and road works in real time. Third generation phones will also allow for remote monitoring of patients by doctors. In Britain scientists are developing an asthma management solution using mobiles to detect early signs of an attack.

Mobile phones can be used in education. A group of teachers in Britain use third generation phones to provide fast

internet service to children who live beyond the reach of terrestrial broadband services and can have no access to online information. ‘As the new generation of mobile technologies takes off, the social potential of the vastly increase,’ the report argues.

Question 41: What does the writer suggest in the first paragraph about our attitudes to mobile phones?
A. We can’t live without them.


 B. We are worried about using them so much.

C. We have contradictory feelings about them. 
 D. We need them more than anything else to deal with modern life.

Question 42: What does “them” in paragraph 2 refer to?
A. long-term effects 

B. new mobile technologies 

C. doubts 

D. benefits

Question 43: What is the connection between social life and mobile phones?
A. Modern social life relies significantly on the use of mobile phones
B. Mobile phones makes romantic communication easier

C. Mobile phones encourage people to make friends.

D. Mobile phones enable people to communicate while moving around

Question 44: Why do teenagers have such a close relationship with their mobile phones?
A. They use text messages more than any other group 
C. They feel independent when they use them

B. They are more inclined to be late than older people 
D. They tend to feel uncomfortable in many situations 

Question 45: Which of the following is NOT true?

A. Mobile phone is considered as a means for the youth to show their characters.

B. Mobile phones are playing a wide range of roles in people’s life.

C. People can overcome shyness by using texting to communicating things that make them uncomfortable.

D. There is no need to suspect the harmfulness of mobile phones.
Question 46: In what sense has the impact of phones been “local” in paragraph 3?
A. People tend to communicate with people they already know.
B. Users generally phone people who live in the same neighborhood.
C. It depends on local dialects.

D. The phone networks use different systems.

Question 47: How might mobile phones be used in the future?
A. To give the address of the nearest doctor’s surgery 

B. To show bus and train timetables

C. To arrange deliveries 




D. To cure diseases

Question 48: The navigation product launched in Sweden is helpful for drivers because ________.
A. it can suggest the best way to get to a place 


B. it provides directions orally
C. it tells them which roads are congested 


D. it shows them how to avoid road works

Question 49: What is the general attitude of the report described here?
A. Manufacturers need to produce better equipment.

B. The government should take over the mobile phone networks.

C. There are problems with mobile phones that cannot be overcome.

D. Mobile phones can have a variety of very useful applications.
Question 50: The word “pronounced” in paragraph 3 is closest in meaning to ______.

A. obvious 

B. serious 


C. voiced 


D. overwhelmed: ap dao
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks


Health is something we tend to (51) _______ when we have it. When our body is doing well, we are hardly___ (52) ________ of it. But illness can come, even (53) _______ we are young. In fact, childhood has been a very susceptible time. Many diseases attack children in particular, and people know very little ___(54) ______ to cure them once they struck. The result was that many children died. About a century ago,____(55) _________, scientists found out about germs, and then everything changed. The (56) _____ of many diseases was found, and cures were developed. As this medical discovery spread, the world became____ (57) _____ safer for children. The result is that (58) _________ a hundred years ago, the average man lived for 35 years, nowadays, in many areas of the world, people can ___(59) _______ to live for 75 years. And what do we expect by the year 2020 ? Undoubtedly, medical science will continue to_____(60) ________. Some people will be able to avoid medical problems that are unavoidable today.

Question 51. A. forget
   B. ignore
C. give up
D. throw away

Question 52. A. awake
   B. keen
C. aware
D. concerned

Question 53. A. if
   B. so
C. when
D. while

Question 54. A. how
   B. what
C. which
D. when

Question 55. A. therefore
   B. however
C. although
D. moreover

Question 56. A. reason
   B. origin
C. source
D. cause
Question 57. A. more
   B. much
C. very
D. quite

Question 58. A. where
   B. when
C. why
D. whereas
Question 59. A. desire
   B. hope
C. want
D. expect
Question 60. A. speed up        B. advance

C. accelerate
 
  D. run

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following question.

Question 61: The teacher said to his students: “Never leave the room without asking for my permission.”
A. The teacher encouraged the students to leave the room but they should ask for his permission first.

B. The teacher suggested the students leave the room in case of necessity.

C. The teacher ordered the students to ask for his permission before leaving the room.
D. The teacher banned the students from leaving the room.

Question 62: “Why don’t you reply to the offer of the company right now?” said Anne to her husband.
A. Anne ordered her husband to accept the offer of the company right away.

B. Ann suggested that her husband reply to the offer of the company right away.
C. Ann told her husband not to respond to the offer of the company.

D. Ann asked her husband the reason why he didn’t reply to the offer of the company immediately.

Question 63: “If I were you, I would try to finish the pre-lab report before carrying out the experiment.” the professor said to his students.
A. The professor advised his students to finish the pre-lab report before carrying out the experiment.
B. The professor wished he could finish the pre-lab report for his students.

C. The professor regretted that his students didn’t do things in the right way.

D. The professor advised his students to carry out the experiments and then write the pre-lab report.

Question 64: The rate of inflation has fallen steadily during recent months.
A. The rate of inflation has been brought under control.

B. The rate of inflation has been on the rise during recent months.

C. There has been an unacceptable degradation in the rate of inflation during recent month.

D. There has been a steady decline in the rate of inflation during recent months.

Question 65: Twice as many men as women are insurance agents.
A. More men than women have insurance.

B. Women are twice as likely as men to have insurance.

C. Insurance is twice as difficult to sell to women as to men.

D. Male insurance agents outnumber female agents.
Question 66: This conference wouldn't have been possible without your organization.
A. If you didn’t organize, this conference wouldn’t have been possible.

B. Your organization made it possible for this conference to take place.

C. If it had been for your organization, this conference wouldn’t have been possible.

D. It’s possible that your organization made this conference impossible.

Question 67: Frank doesn’t care if Jean leaves or stays.

A. Whatever Jean does is all right with Frank. 

B. Frank wants Jean to stay.

C. Jean will stay, but Frank wants her to leave. 

D. Jean wants to leave unless Frank stays.

Question 68: It was his lack of confidence that surprised me.   

A. He surprised me by his lack of confidence.
    

B. What surprised me was his lack of confidence.
C. That his lack of confidence surprised me.
    

D. That he lacked of confidence surprised me.

Question 69: We would have had a better time at the party if we had known some of the other guests.
A. We knew none of the people at the party.
B. We knew almost every person at the party.

C. We guess we had a better time at the party than the other people.

D. We had a good time with the guests at the party.

Question 70: Francis ought to have made more effort to locate his brother.
A. It is necessary for Francis to try harder of he wants to locate his brother.

B. Francis must have worked hard in order to locate his brother.

C. Francis didn’t try as hard as he should have to find his brother.
D. Francis has to make the effort himself if he wishes to find his brother.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

   Who talk more – men or women? Most people believe that women talk more. However, linguist Deborah Tannen, who has studied the communication style of men and women , says that this is a stereotype . According to Tannen, women are more verbal – talk more – in private situations , where they use conversation as the “glue” to hold relationships together. But, she says, men talk more in public situations, where they use conversation to exchange information and gain status. Tannen points out that we can see these differences even in children. Little girls often play with one “best friend”, their play includes a lot of conversation. Little boys often play games in groups; their play usually involves more doing than talking. In school, girls are often better at verbal skills, boys are often better at mathematics.

    A recent study at Emory University helps to shed light on the roots of this difference. Researchers studied conversation between children age 3-6 and their parents. They found evidence that parents talk very differently to their son than they do to their daughters. The startling conclusion was that parents use more language with their girls .Specifically, when parents talk with their daughters , they use more descriptive language and more details. There is also far more talk about emotions, especially sadness, with daughters than with sons.  

Question 71 . Which sentence best expresses the main idea of the first paragraph?
      A. Little girls and little boys have different ways of playing.

      B. Women talk more than men. 

      C. It’s stereotype that women talk more than men .

      D. Women talk more in private , and men talk more in publiC.
Question 72. Which  word  is similar in meaning to  “glue”  in line 4 ?
              A. means                             B. sticky substance              C.  game                            D.  rope

Question 73. Which sentence best expresses the main idea of the second paragraph?

  A. Researchers have studied  the conversations of children and their parents. 

  B. Parents do not talk much about sadness with their sons. 

  C. Study at Emory University can help to explain the differences between communication styles of boys and girls.

  D. An Emory University found that parents talk more with their daughters than with their sons.
Question 74 . Which of the following phrases best explains the meaning of the word “verbal”?
              A. connected with the use of spoken language                          B. being very talkative

              C. deriving from verbs                                                            D. using very loud noise

Question 75. The word they in line 4 refers to 

              A. situations.                B. women              C. men and women              D. men 

Question 76. Which can be used as a synonym of the word “feelings” ? 

              A. anger               
  B. emotions            C. thinking                          D. worries

Question 77. Which of the following statements can be inferred from the first paragraph ?
      A. Men and women have different styles of talking , which may begin in childhooD. 

      B. Men are more sociable than women. 

      C. According to Tannen, the belief that women talk more is partly right but most wrong and oversimplified. 

      D. Women talk more in some situations, men talk more in others. 

Question 78. Which word could best replace “startling” ?

              A. beginning              B. annoying              C. surprising                         D. interesting              

Question 79. Which  of the following statements can be inferred from the second paragraph?
      A. Girls have more practice discussing sadness than boys do. 

      B. Parents don’t enjoy talking  with  their sons as much as with their daughters. 

      C. A recent study found that parents talk differently to their sons and daughters. 

      D. Boys don’t like to be with their parents as much as girls do. 

Question 80. Which of the following statements is TRUE about the passage?
      A. Parents use more language to talk with their daughters. 

      B. Boys don’t like showing their emotions.

      C. Parents give more love to their daughters than their sons.

      D. Girls are thought to be more talkative than boys.

The End

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1: A. recommend          B. hurricane
    C. photograph
D. separate

Question 2: A. genuine
B. kangaroo
C. genocide
D. fortunately

Question 3: A. meteorite
B. ferocious
C. adventure
D. achivement

Question 4: A. specific
B. coincide
C. inventive
D. regardless

Question 5: A. habitable
B. infamously
C. geneticist
D. communism

Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.

Question 6. There are (A) more than eighty-four million specimens (B) in the National Museum of Natural History’s collection of biological, geological (C), archeological and anthropology (D) treasures.

Question 7. The National Basketball Association will not let any athlete to continue  (A) playing (B) in the league unless he submits voluntarily (C) to treatment for drug addiction (D)

Question 8. The first postage stamp, issued (A) on May 6th 1860 in England, it was (D) the Penny Black, which featured (C) a profile of Queen Victoria (D)

Question 9. The color of a star depends on the heat and how much energy it produces. 

                         A                          B                                           C                D

Question 10. The incidence of which  (A) is now referred (B) to as cryovolcanism, or ice volcanoes, is (C) quite high on the surface of Triton, one of  (D) the moons of Neptune.         

Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. 

Question 11. The company has just got a big order and the workers are working around the_________.

A. night


B. day


C. hour


D. clock 

Question 12. The boys ________ that he had had anything to do with the break-in.

A. refused 

B. denied

C. objected

D. reject

Question 13.   Do you have __________ to take that bicycle?

A. allowance 

B. exception 

C. willingness

D. permission
Question 14. Where can I get a good rate of ________ for my money ?
A. deposit

B. interest

C. capital

D. credit


Question 15.  _____________________ appear, they are really much larger than the Earth.

A. As the small stars



B. The stars as small


C. Despite the small stars  


D. Small as the stars 

Question 16. I felt over while I was riding and my sister had to _______ a doctor.


     A. call on


  B. bring



 C. take



 D. fetch

Question 17. The number of chromosomes in a cell _______ from species to species.

A. varies 

B. vary


 C. varying 

D. to vary

Question 18. It sounds like you let people take advantage of you. _______, you need to learn to be more assertive.

A. Otherwise 

B. If only 

C. What if 

D. If so
Question 19. You _______ out yesterday without a coat. No wonder you caught cold.

A. shouldn’t have gone   B. haven’t gone 

C. hadn’t gone 

D. mustn’t have gone

Question 20. Scientists can’t agree on _______ related to other orders of insects.

A. that fleas are 
B. how fleas are


 C. how are fleas 
D. fleas that are

Question 21. I have English classes _______day - on Mondays, Wednesdays and Fridays.

A. all other

B. each other


 C. every other

D. this and the other

Question 22. British and Australian people share the same language, but in other respects they are as different as__

	      A. cats and dogs
	 B.  chalk and cheese
	          C. salt and pepper
	    D. here and there


Question 23. On the second thought, I believe I will go with you to the theater.
	B. Upon reflection

C.   For this time only
	B. After discussing with my wife
D. For the second time


Question 24. ………….in the atmosphere is the temperature falling below freezing.

	A. Frost is produced

C.  What produces frost    
	B. Frost produces   

D. What is frost produced 


Question 25. So little………….about mathematics that the lecture was completely beyond me.
	      A. I have known
	B. I knew 
	C. do I know         
	D. did I know  


Question 26. A: This grammar test is the hardest one we’ve ever had this semester!

                     B: …………………but I think it’s quite easy. 

	B. I couldn’t agree more.

      C.   You’re right.
	B. I understand what you’re saying.

D. I don’t see in that way.


Question 27. ________ in the diet is especially important for vegetarians.

A. Enough protein is obtained  


B. Obtaining enough protein 

C. They obtain enough protein 


D. By obtaining enough protein 

Question 28. Unless this outbreak of cholera ________rapidly under control, we ________ourselves with an epidemic on our hands.

      A. has brought/could find 


B. is brought/may find 

      C. were brought/would be found    

D. had brought/might have found       

Question 29. Student: "I would like to join the library."



Librarian: “________”

      A. OK. Would you like to fill in this form?
B. OK. This is the form that requires us.

      C. OK. I would like to fill in this form.
D. OK. See if you can join.
Question 30. ________, Sarah Jeweft, a nineteenth- century writer, read widely in her family's extensive library.

A. That she received little education formally 

B. The little formal education that she received  


C. Little formal education that was received by

D. Although she received little formal education  

Question 31. “What a great haircut, Lucy!”
- “………………..”

A. You think so? I think it’s a bit too short


B. It’s my pleasure

C. Oh, yes. That’s right





D. Thanks. It’s very kind of you to do this.

Question 32. . …….., sheep were then used for wool.

A. Having first domesticated for milk production

B. Having been first domesticated for milk production

C. Because they had been first domesticated for milk production

D .Although they had first domesticated for milk production

Question 33. Do you think Ms. Brown will _____________ for Parliament in the next election?

A. sit



B. run

C. walk


D. stand

Question 34. Mike: “Tell me what your dog’s like?”
- Alice: “………………”

A. Very quickly


B. Biscuit and bones
C. Very well , thank you
          D. Big, black and
Question 35. “Would you like me to get a taxi?”

- “……………..”

A. That would be delightful. Thanks
 B. Well, let’s see.



C. Yes, please, if it’s no bother
 
D. Yes, I see.

Question 36. Just keep________on the baby while I cook the supper, will you?

A. a look 


B. a glance 

C. an eye 


D. a care

Question 37. Remember to appreciate what your friends do for you. You shouldn’t take them______________.


A. as a rule


B. as usual

C. out of habit


D. for granted

Question 38. I know his name, but I can’t recall it at the moment. It’s on the tip of ______.

A. tongue


B. brain


C. mind



D. memory


Question 39. John’s mother has more than two ---------- workers under ----------. 

A hundreds/ her 

B hundreds/ hers 
C hundred/ hers 

D hundred/ her

Question 40. John lost the ------------ bicycle he bought last week and his parents were very angry with him because of his carelessness. 

A beautiful Japanese blue new


B beautiful new blue Japanese 

C new beautiful blue Japanese 


D Japanese beautiful new blue 

Question 41. “What instructions did your boss give you?” “He stipulated that everyone ---------- the meeting.” 

A would attend 


B attends 

C attended 


D attend
Question 42. Farmers are at the _______ of the bad weather that can destroy their crop

A. change


B. influence

C. force



D. mercy
Question 43. ___________ members of my family has a share in doing household chores.

A. Each of the 


B. Every

C. All


 
D. None of

Question 44. There is no water on the moon, nor ____________ an atmosphere around it.

A. there is 


B. there is not

C. is there


D. is it  

Question 45. Many plants can grow in water, __________ nutrients are added.



A. as long as




B. besides



C. above all


D. however

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

MODERN FASHION TRENDS

Fashions today are changing faster than ever, influenced by a variety of forces. Clearly, many of these changes are dictated by music-related cultural movements like hip-hop, boy bands, or grunge. The stars of these music genres are idolized, and their clothing choices directly influence the fashion of their fans who wish to imitate them. Another undeniable influence on what fashion is "cool" is technology. Technology that can be worn is now and will become an ever more important part of the "look" of fashionable young people. There are many other trends, among them retro or vintage fashion, and so-called disposable fashion.

The hip-hop revolution of the 1970s and '80s brought a whole new look to our attention, a look for an American city culture that made a statement. Modern hip-hop clothes, however, are often produced by successful, big-name fashion designers, and are quite expensive. In fact, many hiphop artists such as Eminem, Kanye West, and others have their own lines of hip-hop clothing. The essentials of the modern hip-hop look are gold chains, boots or kicks (slang for sneakers), a bandana tied around the head, often with a cap on top, and large T-shirts. The baggy look of decades gone by has been replaced by a look that includes polo shirts and tighter denim jeans.

Another trendy, cutting-edge movement in the world of fashion is technology you wear, and the blending  of technology with clothing. More and more, people are afraid to be without a cell phone, a computer, or Internet access at any time of the day or night. Wearable technology helps people keep those crucial connections to the
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world open, while at the same time giving them a distinctive look. Clip-on MP3 players with headphones, "hands-free" phones and earpieces, and personal digital assistants (PDAs) are just a few of the ever more visible portable technology components that are part of the look. The ultimate in technology-friendly clothing, the solar- powered jacket can now provide the electricity needed to keep all these gadgets running.

The retro or vintage style of clothing brings trends from past decades back into style. Grunge was a style of music born in the Seattle area in the 1990s. Grunge fans stayed away from synthetic fabrics, preferring flannel shirts, stone-washed jeans, and rock T-shirts. They preferred dark colors like greens, dark purples, or browns. For footwear, grunge fans wore Dr. Martens-style shoes and boots or high-top sneakers. Although the grunge music  craze also ended in the '90s, a modern retro fashion trend is taking its cue from grunge-era clothing. Modern grunge fashion is similar in many ways, but it's much less baggy and sloppy than it was in the '90s.

H&M, a chain of Swedish clothing stores, is the name most often connected with the new trend in youth fashion known as disposable fashion. It's clothing so cheap that you don't mind buying it and wearing it only several times, perhaps, before discarding it. Disposable fashion is often brightly colored and stylish, but low in  price. The trend, which reportedly started in Japan, grew popular in Europe, and is taking root in America, shows no signs of slowing down.

What will the future of fashion look like? Well, technology is sure to remain a growing part of fashion, with ever smaller cell phones, computers, PDAs, and other wearable gadgets. All around the world, more people are wearing hip-hop fashions than ever before. No longer exclusive to urban youth or even the United States, hip- hop will remain a popular global fashion for years to come. Retro fashions from the '80s and '90s, including the grunge look, seem to be growing in popularity, and disposable fashion is a big hit that won't end soon. And, I'm sure that we will see new fashion surprises as music, fashion, and technology move forward together into the future.

Question 46: What is the main purpose of the passage?

A. to explain why certain fashions are popular internationally

B. to show the best fashions to wear in order to look "cool"

C. to inform us about current and future fashion trends

D. to explain the history of certain fashion trends

Question 47: Which fashion trend is NOT mentioned in the article?

A. grunge

B. hip-hop

C. retro


D. business casual
Question 48: According to paragraph 2, how has hip-hop changed?

A. Hip-hop clothes are now sold by big-name designers and are less baggy.

B. Boots used to be popular, but now kicks are worn.

C. Hip-hop moved from other countries to the United States.

D. The baggy hip-hop look has replaced tighter jeans and polo shirts.

Question 49 :What trend has been brought back by the retro style?

A. hip-hop
`
B. wearable technology

C. grunge

D. disposable fashion

Question 50:Which fashion trend would most likely be the most popular with someone who didn't have much money to spend?

A. hip-hop

B. wearable technology

C. retro


D. disposable fashion
Question 51: Why might disposable fashion clothes not go well with the grunge look?

A. because disposable fashion is cheap


B. because grunge is from Seattle

C. because disposable fashion is often brightly colored
D. because the grunge music craze ended in the '90s

Question 52: According to paragraph 6, which of the following is a likely future trend?

A. Wearable technology will involve smaller devices.

B. Hip-hop will become exclusive to the United States.

C. Retro fashions will go out of style.

D. Disposable fashions will increase in price.

Question 53: What does the pronoun ‘them’  refer to?

A. Fans 


B. choices


 C. genres 

 D. stars
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks

Along (54) ___jogging and swimming, cycling is one of the best all-round forms of exercise. It can help to increase your strength and energy, giving you more (55)____ muscles and stronger heart. But increasing your strength is not the only advantage of cycling. Because you are not (56)______the weight of your body on your feet. It is a good form of exercise for people with painful feet or backs. However, with all forms of exercise, it is important to (57)___slowly and build up gently. Doing too much too quickly can damage muscles that are not (58) ____ to working. If you have any doubts about taking (59) ____cycling for health reasons, talk to your doctor and ask his or her advice.

   
Ideally you should be cycling at (60) _____ two or three times a week. For the exercise to be doing you (61) __, you should get a little out of breath. Don’t worry that if you begin to lose your breath, it could be dangerous and there must be something wrong with your heart. This is simply not true, shortness of breath (62) _____that the exercise is having the right effect. However, if you find you are in pain, (63) ___ you should stop and take a rest. 

Question 54. 
A. on


B. at 


C. by


D. with

Question 55. 
A. confident

B. efficient

C. better

D. reliable

Question 56.   A. bringing

B. carrying

C. lifting

D. arising

Question 57. 
A. make

B. take


C. start


D. do

Question 58. 
A. have


B. ought

C. used


D. made

Question 59.
A. in


B. up


C. out


D. on

Question 60. 
A. best


B. all


C. least


D. times 

Question 61.
A. good


B. well


C. nice


D. fine

Question 62. 
A. tells


B. shows

C. points

D. appears

Question 63.  
A. then


B. though

C. even


D. yet

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following question.

Question 64. I am sure he badly needed the money.

A. He badly needed the money was sure to me.



B. He is sure badly needed the money.


C. He must have badly been in need of the money. 


D. He could have badly needed the money.

Question 65. The noise next door didn’t stop until midnight.

A. It was not until midnight that the noise next door stopped.


B. Not until midnight did the noise next door stopped.


C. Only when midnight did the noise next door stopped.


D. Hardly had the noise next door stopped than it was midnight.

Question 66. He can shout even louder, but I won’t take any notice.


A. However loud he can shout, but I won’t take any notice.


B. No matter how loud he can shout, I won’t take any notice.


C. He can shout even louder won’t take any of my notice.


D. Whatever ability he shout won’t take notice of me.

Question 67. Everyone expected her to win the tournament, but she didn’t.



A. Unlike everyone expected, she didn’t win the tournament



B. Everyone was unexpected when she won the tournament.



C. Contrary to everyone’s expectation, she lost the tournament.



D. To everyone’s expectation, she won the tournament.

Question 68. I won’t sell the painting, no matter how much you offer me.

A. Whenever you offer me to buy the painting, I won’t sell it.


B. How many money you offer me, I won’t sell the painting.


C. Whatever price you offer me, I won’t sell the painting.


D. In spite of your offering me how much money, but I won’t sell the painting.

Question 69. It wouldn’t be a waste of time to look at that house again.


A. You shouldn’t waste your time to look at that house again.


B. Did you find that look at that house again was a waste of time ?


C. It was worth looking at that house again.


D. Would we consider to look at that house again ? 

Question 70. Anyone who misses more than fifty percent of the classes deserves to fail.
A. More than fifty percent is too much for one class.

B. Fifty percent of the classes have failed the exams.

C. People who fail must make up fifty percent of the classwork.

D. These who are absent more than half the time should fail. 

Question 71. She’s bound to see Harry at the meeting.
A. She’s obliged to see Harry at the meeting. 

C. She’s on her way to see Harry at the meeting.

B. It’s certain that she will see Harry at the meeting. 
D. She’s too busy to see Harry at the meeting.

Question 72: I expect you were fully satisfied with the results by the end of the display.


A. By the end of the display you must have been fully satisfied.


B. You must be completely satisfied with the results by the end of the display.


C. By the end of the display you must have been quite happy.


D. You were fully satisfied when the display came to an end.

Question 73: I couldn’t concentrate fully because of the noise from the machine.

A. The machine was so noisy, that made me unable to concentrate fully.

B. The noise made machine stopped me to concentrate fully.

C. The noise machine prevented my concentrate fully.

D. The noise from the machine made it hard for me to concentrate fully.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

ENDANGERED ANIMAL SUCCESS STORIES

In 2006, the United States government declared May 11 to be Endangered Species Day. This day was created to encourage people to raise their awareness and understanding of the problem of endangered species. Indeed, the government has shown itself to be a true friend of endangered species. In 1973, the United States government passed into law the Endangered Species Act. Its three major goals were as follows: to protect plants and animals from extinction by listing them as endangered; to preserve the habitat of these species; and to help populations of listed species recover. Today, we celebrate dozens of success stories of animals brought back from near extinction. Here are three such success stories.

It is fitting that we begin with the story of the bald eagle, the national symbol of the United States. Before the arrival of the Europeans in North America, it is estimated that the population of bald eagles in the United States, excluding Alaska, was about 100,000 birds. By 1963, the population had dropped to less than  1,000 individuals-an appalling trend. Hunting was certainly a major factor in this decline, as was the destruction of habitat, but another factor was a chemical used in the control of insects, DDT. It had a strange effect on the

eagles' eggs. It made their shells very thin so that they broke easily, and the baby birds inside were frail.

The single most important factor in the recovery of the bald eagle was a 1972 ban on DDT. Being listed as an endangered species gave the birds additional protection. Bald eagle populations are now carefully watched, 20 and baby eagles are raised under human protection to be later released into the wild. Thanks to these efforts, the number of eagles in the United States, excluding Alaska, has grown to about 14,000.

Another classic symbol of North American wildlife is the grizzly gear. In the era before the Europeans arrived, more than 50,000 grizzlies wandered the American West. Today that number is closer to 1,000. Because grizzly bears have babies at a very slow rate, it takes many years for the population to grow. 

Most of the grizzly bears in the United States, excluding Alaska, live in the protection of Yellowstone and Glacier National Parks. Hunting them has been completely outlawed. As bear populations grow, it becomes very important to prevent encounters between humans and bears: 20 to 40 bears are killed each year in such encounters. Garbage management is an important factor in keeping bears away from humans.

In the Florida Keys, a chain of islands off the coast of Florida, there lives a small population of tiny deer  called Key deer. They once lived on a number of islands, but they have gradually been limited to mainly one. The Key deer very nearly died out-at one point there were only 25 remaining. In the past, hunting was a big problem. Recently, deer are rarely killed intentionally, but exploitation of their island's land for homes, roads, and tourism has destroyed much of their habitat. Automobiles also kill a number of deer each year.

The Key deer was one of the first animals to be listed as endangered. In 1957, a sanctuary was created for  the deer. There, a staff conducts health checks on them. Thanks to these efforts, their population has returned to about 500.

We hope that the government continues to be on the side of endangered species. Each unique species enriches our environment and is certainly worth protecting. By protecting endangered species, we also express our respect for the place in which we live. At the same time, we present a gift of great value to future generations of people.

Question 74: What was the author's main purpose in writing this passage?

A. to celebrate government successes in helping endangered animals

B. to instruct people in the United States about how to save animals

C. to point out the causes of animal endangerment

D. to encourage people to send money to help animals

Question 75: What is NOT mentioned in the passage as a goal of the Endangered Species Act?

A. listing animals and plants as endangered

B. preserving plant and animal habitat

C. assisting endangered species populations to grow

D. creating national parks

Question 76: What was the single most destructive factor for bald eagle populations?

A. hunting




B. loss of habitat



C. the use of DDT



D. the naturally slow rate of producing baby eagles

Question 77: According to the passage, for which animal is garbage management important?

A. the bald eagle

B. the grizzly bear

C. the Key deer


D. all of the above

Question 78: According to the passage, what kills a number of Key deer each year?

A. grizzly bears


B. bald eagles


C. DDT



D. cars

Question 79: What is today's population of Key deer?

A. about 25


B. about 500


C. about 1,000


D. about 14,000

Question 80: According to the passage, why is it important to protect endangered species?

A. They enrich our environment.



B. It shows our respect for our environment.

C. We can leave a gift for future people.


D. all of the above 
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  Mark the letter a, b, c, or d on your answer sheet to indicate the correct answer to each of the following questions. 

1. The criminal was sentenced to death because of………..of his crime.

a. the severity


b. the complexity

c. a punishment


d. the importance

2. The discovery was a major ……………for research workers
a. breakthrough
b. breakdown

c. break-in


d breakout

3. “Would you like me to get a taxi?”

- “……………..”

a. That would be delightful. Thanks
 b. Well, let’s see.

c. Yes, please, if it’s no bother
d. Yes, I see.

4. You have a good feeling about yourself and……………….when you volunteer.

a. others


b. other


c. the other


d. the others

5. If it………..……..their encouragement, he could have given it up.

a. had been for


b. hadn’t been

c. hadn’t been for
            d. wouldn’t have been for

6.  By the end of this month I……………..….for this company for two years.

a. have been working 

b. will have been working c. will be working

d. will work

7. Flooding in April is an unusual ………….……in this area.

a. occur



b. occurrence

c. occurring


d. occurred

8. Lorie is very thin, ………..….her young sister, who is quite heavy.

a. dissimilar to


b. unlikely

c. unlike


d. dislike

9.  It is a fact that………..…..form of energy.

a. electricity being the most useful



b. electricity the most useful

c. the most useful in electricity



d. electricity is the most useful

10. Please ……………….. and see us some time. You ‘re always welcome.
a. come to

b. come about
c. come around

d. come away.

11. Only in the Civil War…………..……killed or wounded.

a. soldiers in America




b. so many American soldiers were

c. many in America




d. were so many American soldiers

12. Prices of  flats………………..…from a few thousand to millions of dollars.

a. vary



b. change

c. differ



d. fluctuate

13. John………………..knowledge from many of his life experiences in his work.

a. approved


b. applied

c. appreciated


d. accomplished

14. As it was getting late, the boys decided to……………..…..the campfire and crept into their sleeping bags.

a. put up



b. put off

c. put out

d. put on

15. The general  public………………….. a large number of computers now, because prices are beginning to decrease.

a. must buy


b. must be buying

c. must have bought
d. must bought

16. I have to assure myself that I……………….the best possible decision.

a. have leapt


b. have made

c. have done


d. have reached

17. “Sorry, I’m late, Mike.”
- “ ………………..”

a. Well, it’s worth a try

b. Not on my account
c. No, I wouldn’t mind at all
d. That’s all right

18. Once the air warms up, the snow should start to………

a. thaw



b. defrost

c. dissolve


d. liquefy

19.  It’s surprising that ex-smokers are less……………..…..smokers than non-smokers.

a. tolerant of


b. tolerable to

c. intolerant


d. tolerance towards

20.  Tony often watches TV after his parents…………………….to bed.

a. had gone


b. have gone

c. go



d. went

21.  “What a great haircut, Lucy!”
- “………………..”

a. You think so? I think it’s a bit too short


b. It’s my pleasure

c. Oh, yes. That’s right




d. Thanks. It’s very kind of you to do this.

22.  Don’t leave paraffin heaters in a draught or where they’re……………..…..

a. dangerously knocked over



b. in danger knocked over

c. in danger of being knocked over


d. in danger of knocking over

23.  Mike: “Tell me what your dog’s like?”
- Alice: “………………”

a. Very quickly


b. Biscuit and bones
c. Very well , thank you

d. Big, black and hairy

24.  Population expansion seems to surpass the ability of the earth to meet…….food.

a. the requirement of

b. the command of
c. the demand for

d. the necessity for

25.  After years of being exposed to the sun and rain, the sign had become completely……..

a. unreadable


b. illegible

c. misread


d. readable

26.  James: “What’s the matter?”
- Anne: “……………..…..”

a. Nothing


b. Not at all

c. That’s all right


d. It’s no trouble

27. . ………….over long distances is a fact.

a. That electricity can be transmitted


b. That electricity transmitting

c. That electricity




d. That can be transmitted

28. . …….., sheep were then used for wool.

a. Having first domesticated for milk production



b. Having been first domesticated for milk production

c. Because they had been first domesticated for milk production

d .Although they had first domesticated for milk production

29. Do you think Ms. Brown will _____________ for Parliament in the next election?


a. sit

b. run


c walk



d. stand

30. The judge _____________ the murderer to a lifetime imprisonment.



a. convicted
b. sentenced
c. prosecuted


d. accused

Read the following passage and mark the letter a, b, c, or d  on your answer sheet to indicate the correct answer to each of the questions. 
REALITY TELEVISION


Reality television is genre of television programming which, it is claimed, presents unscripted dramatic or humorous situation, documents actual events, and features ordinary rather than professional actors. It could be described as a form of artificial or “heightened” documentary. Although the genre has existed in some form or another since the early years of television, the current explosion of popularity dates from around 2000.


Reality television covers a wide range of television programming formats, from game or quiz shows which resemble the frantic, often demeaning programmes produced in Japan in the 1980s and 1990s (a modern example is Gaki no tsukai), to surveillance- or voyeurism- focused productions such as Big Brother.


Critics say that the term “ reality television” is somewhat of a misnomer and that such shows frequently portray a modifies and highly influenced form of reality, with participants put in exotic location or abnormal situations, sometimes coached to act in certain ways by off-screen handlers, and with events on screen manipulated through editing and other post-production techniques.


Part of reality television’s appeal is due to its ability to place ordinary people in extraordinary situations. For example, on the ABC show, The Bachelor, an eligible male dates a dozen women simultaneously, traveling on extraordinary dates to scenic locales. Reality television also has the potential to turn its participants into national celebrities, outwardly in talent and performance programs such as Pop Idol, though frequently Survivor and Big Brother participants also reach some degree of celebrity.


Some commentators have said that the name “reality television” is an inaccurate description for several styles of program included in the genre. In competition- based programs such as Big Brother and Survivor, and other special-living- environment shows like The Real World, the producers design the format of the show and control the day-to-day activities and the environment, creating a completely fabricated world in which the competition plays out. Producers specifically select the participants, and use carefully designed scenarios, challenges, events, and settings to encourage particular behaviours and conflicts. Mark Burnett, creator of Survivor and other reality shows, has agreed with this assessment, and avoids the word “reality” to describe his shows; he has said, “I tell good stories. It really is not reality TV. It really is unscripted drama.”

31. In the first line, the writer says “it is claimed” because………….


a. they are agree with the statement



b. everyone agrees with the statement


c. no one agrees with the statement



d. they want to distance themselves from the statement

32. Reality television has……………

a. always been this popular




b. been popular since before 2000

c. only been popular since 2000




d. been popular since approximately 2000

33. Japan……………

a. is the only one place to produce demeaning TV shows

b. has produced demeaning TV shows copied elsewhere

c. produced Big Brother




d. invented surveillance focused productions

34. People have criticized reality television because…………….

a. it is demeaning

b. it uses exotic locations

c. the name is inaccurate

d. it shows reality

35. Reality TV appeals to some because………….

a. it shows eligible males dating women



b. it uses exotic locations

c. it shows average people in exceptional circumstances

d. it can turn ordinary people into celebrities

36. Pop Idol……………

a. turns all its participants into celebrities

b. is more likely to turn its participants into celebrities than Big Brother 

c. is less likely to turn its participants into celebrities than Big Brother
d. is a dating show

37. The term “reality television” is inaccurate……………

a. for all programs





b. just for Big Brother and Survivor


c. for talent and performance programs



d. for talent and performances programs

38. Producers choose the participants………….

a. on the ground of talent




b. only for special-living- environment shows

c. to create conflict among other things



d. to make a fabricated world

39. Paul Burnett…………..

a. was a-participant on Survivor




b. is a critic of reality TV

c. thinks the term “reality television” is inaccurate

d. writes the script for Survivor

40. Shows like Survivor……………..

a. are definitely reality TV
b. are scripted


c. have good narratives

d. are theatre

Mark the letter a, b, c, or d on your answer sheet to indicate the underlined sound that is pronounced differently from the rest or the word that differs from the rest in the position of the main stress:

41. a. reindeer


b. engineer


c. pioneer


d. referee

42. a. dangerous


b. marvelous


c. conspicuous


d. numerous

43. a. establish


b. illustrate


c. intimidate


d. inheritance

44. a. expansion


b. conversion


c. precision


d. explosion

45. a. eradicate


b. character


c. malaria


d. spectacular

Read the following passage and mark the letter a, b, c, or d on your answer sheet to indicate the correct word(s) for each of the blanks. 

All life is sound. We are constantly surrounded by sounds and noises (46)…………..by nature and everything in it. For thousands of years man has been speaking and singing, and (47)………….…his wonderfully constructed ear, perceiving sounds and noises, although they are but a small part of the inconceivable wealth of sounds filling the universe. Children everywhere and without 

(48)……………..are born with musical abilities with voices, and with hearing. The difference lies (49)………………in what they do with these gifts. That (50)…………....according to temperament upbringing nationality, and time.

Nature itself is full of sound, full of music. Musical sounds existed millions of years before there was a human ear to hear 

(51)…………….…: the soft bubbling of the water, the roll of thunder, the whistling and rustling of leaves in the wind and 

(52)…………..….knows how many other audible manifestations of nature. Man was born (53)…………...a world of sound. Thunder filled him with fear and became a symbol of supernatural (54)…….………… In the roar of the wind he heard the voices of demons. Dwellers at the seashore (55)………….…the temper of the gods by the sound of the waves. Religious rites and music were inseparable at the dawn of humanity.

46. a. found


b. heard


c. produced


d. existing

47. a. thanks to


b. based on


c. in spite of


d. without

48. a. exception


b. doubt


c. consideration

d. preparation


49.  a. absolutely


b. merely


c. especially


d. suddenly

50.  a. depends


b. forms


c. varies


d. differentiates

51.  a. them


b. it



c. all



d. from

52.  a. he



b. someone


c. who



d. everyone

53. a. with



b. from



c. in



d. into

54.  a. disasters


b. powers


c. symbols


d. existence

55.  a. terrified


b. touched


c. judged


d. heard

Mark the letter a, b, c, or d on your answer sheet to show the underlined part that needs correction. 

56. It announced today that an enquiry would be held into the collapse of a high-rise apartment block in Kuala                        

                a                                                        b                                                       c                          d


            Lumpur last week.

57. Neither of the men arresting as terrorists would reveal information about his group.

                    a                                b                                    c                                               d

58. I strongly object the idea of students in the final year working part-time jobs.

      a                                               b                 c                         d

59. If they took their language lesson seriously, they would be able to communicate with the locals now.

               a                                              b                      c                                                   d

60. Everyone ought to know the basic steps that follow  in case of   an emergency.

                     a                                                                b                   c         d

Mark the letter a, b, c, or d on your answer sheet to indicate the sentence that is closest in meaning to each of the following questions. 
61.  Tom has the ability to be a professional musician, but he’s too lazy to practice.

a. He is able to practice music lessons professionally though he is lazy.  

b. As a professional musician he is not lazy to practice music lessons.

c. He is talented but he’ll never be a professional musician as he doesn’t practice.

d. Though practicing lazily, he is a professional musician.

62. The book costs $15,50 but I have only $14,50.

a. I have more than enough money to pay for the book. 
 b. The book costs a little more than I have with me.

c. I have just enough money to pay for the book.  
    d. I need a few more dollars to pay for the book.

63. If I hadn’t had so much work to do I would have gone to the movies.

a. I never go to the movies if I have work to do.


b. I would go to the movies when I had done so much work.

c. A lot of work couldn’t prevent me from going to the movies.


d. Because I had to do so much work I couldn’t go to the movies.

64. My father couldn’t stand Tom’s behavior.

a. My father found Tom’s behavior intolerant

b. My father was tolerant towards Tom’s behavior

c. My father found Tom’s behavior intolerable  

d. Tom’s behavior was not tolerable

65. This question is even harder than the last one.

a. The last question is not difficult



b. This question is the most difficult one

c. The last question is difficult but this one is more difficult
d. This question is hard but the last one is not.

66. Nobody at all came to the meeting

a. There was almost nobody at the meeting


b. Not many people came to the meeting

c. Only a few people came to the meeting


d. Not a single person came to the meeting

67.  Anne takes after her mother.

a. Anne resembles her mother in action


b. Anne looks alike her mother

c. Anne and her mother are alike



d. Anne likes her mother very much

68. David broke his leg and couldn’t play in the final.



a. If David didn’t break his leg, he could play in the final.     
b. If David hadn’t broken his leg, he could play in the final now

c. David couldn’t play in the final due to his broken leg.  
d. But for his broken leg, David couldn’t have played in the final.

69. Cultures vary from country to country.

a. Cultures move from one country to another.


b. There are different cultures in one country

c. Culture differences are based on countries


d. Cultures are different in different countries.

70. They couldn’t climb up the mountain because of the storm. 

a. The storm made them impossible to climb up the mountain.     

b. The storm discouraged them from climbing up the mountain. 

c. Their climbing up the mountain was unable due to the storm. 


d. The storm made it not capable of climbing up the mountain. 

Read the following passage and mark the letter a, b, c, or d on your answer sheet to indicate the correct answer to each of the questions. 
TALKING TO…………ELTON JOHN

Q -  Do  you miss doing the ordinary things in life?

    - I like plodding round the kitchen doing the things everybody else does. I  love going to the supermarket to do the shopping. I come back with far more stuff than I need. When I am on holiday in St. Tropez, I love to get up at six in the morning to get the fresh bread. So people often see me wheeling my trolley round the supermarkets in town.

Q -  Do you mind being recognized?

   - I’ve tried going out in disguise, but in the end most people recognize me, Ninety- nine percent are very pleasant, very polite. But it’s frustrating if you get out of bed on the wrong side- and you do some days- and someone asks you for an autograph and they haven’t got a pen or a piece of paper. But I enjoy my popularity; I don’t see the point in being a recluse.

Q - You once said that you’re a bit of a loner.

    - Yeah, I always have been. By that I don’t mean that I’m alone. It’s just that I like to be my own boss all the time. Don’t confuse that with being lonely because I’m not. I have lots of great friends around me. Being successful has given me the confidence to do things I wouldn’t have had the courage to do otherwise. But I still retain that shyness when I first meet people. I’m never going to get rid of that.

Q - You like your food, don’t you?

    - I’m one of those people who only has to look at a doughnut and I immediately put on 2 pounds without even eating it. I’ve always had a problem with my weight .it doesn’t bother me too much, although I get depressed when I’m very overweight. I dieted once and I became so obsessed that I neatly made myself ill. But I’m happy with the way I am at the moment. If you exercise at least three or four times a week and play tennis, then it’s no problem, but you have to keep at it. ( …)

Q - Do you think you will still be touring and making records in another ten year’s time?

    - I can’t keep touring and making records for the rest of my life- I’ve got to try something different now and then. One thing I am interested in doing is writing a musical.

Q  -  So do you think we see you on stage in your town musical one day?

    - I doubt it. I’m not interested in going into a theatre and performing every night. You may find that strange but if you’re on tour, you’re changing cities. I played at the Hammersmith Odeon once for 14 nights and by the end of it I was going crazy. It  was like going to the office. People who actually appear in plays and musical for two or three years have my greatest sympathy and admiration. I never consider what I do as work.

71. When Elton goes out, he……………

a. is recognized by 99% of the population

b. wears a disguise

c. gets annoyed if he is recognized


d. accepts he will probably be recognized

72.  The phrase ‘ a recluse’ is closest in meaning to………………

a. an ordinary person




b. a celebrity

c. a person who avoids other people


d. a person who gets frustrated with his popularity

73. How has frame changed Elton John?


a. He has become very bossy



b. He doesn’t like to be on his own

c. He feels more confident



d. He has become shy

74.  The phrase ‘a loner’ is closest in meaning to………………

a. a person who likes being alone



b. a bossy person


c. a person who is unhappy without other people around

d. an only child in the family

75.  What does Elton John say about his weight?

a. He is obsessed with his weight



b. He gets depressed when he diets

c. He has learnt to control his weight



d. He wishes he were thin

76. The word it in the  last paragraph refers to……………

a. his playing at the theatre for 14 nights


b. his going crazy after the performance

c. his going to the office




d. the Hammersmith Odeon

77. What does the last paragraph tell us about his attitude to work?

a. He loves doing the same thing day after day


b He hates any sort of job which means following a routine and doing the same thing day after day.

c. He loves playing at the theatre




d. He admires people who work hard.

78. Which of the following is not true about Elton John?

a. He loves doing the shopping in supermarkets    

 
b. He prefers going out in disguise to avoid people

c. He has a lot of friends


d. Although he’s always had a problem with his weight, he doesn’t care much about it.

79.  All of the following suggest that Elton John is basically happy with himself and his lifestyle EXCEPT………

a. He enjoys his popularity



b. He is happy with the way he is at the moment

c. He never considers what he does as work

d. He’s always been a loner.

80. What is his future ambition?

a. to appear in a play or musical



b. to break with his present routine

c. to do a word tour




d. to play at the Hammersmith Odeon

--------------- The end --------------
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Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 1: A. recommend          B. hurricane
    C. photograph
D. separate

Question 2: A. genuine
B. kangaroo
C. genocide
D. fortunately

Question 3: A. meteorite
B. ferocious
C. adventure
D. achivement

Question 4: A. specific
B. coincide
C. inventive
D. regardless

Question 5: A. habitable
B. infamously
C. geneticist
D. communism

Mark the letter A, B, C or D on your answer sheet to show the underlined part that needs correction.

Question 6. There are (A) more than eighty-four million specimens (B) in the National Museum of Natural History’s collection of biological, geological (C), archeological and anthropology (D) treasures.

Question 7. The National Basketball Association will not let any athlete to continue  (A) playing (B) in the league unless he submits voluntarily (C) to treatment for drug addiction (D)

Question 8. The first postage stamp, issued (A) on May 6th 1860 in England, it was (D) the Penny Black, which featured (C) a profile of Queen Victoria (D)

Question 9. The color of a star depends on the heat and how much energy it produces. 

                         A                          B                                           C                D

Question 10. The incidence of which  (A) is now referred (B) to as cryovolcanism, or ice volcanoes, is (C) quite high on the surface of Triton, one of  (D) the moons of Neptune.         

Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions. 

Question 11. The company has just got a big order and the workers are working around the_________.


A. night


B. day


C. hour


D. clock 

Question 12. The boys ________ that he had had anything to do with the break-in.

A. refused 

B. denied

C. objected

D. reject

Question 13.   Do you have __________ to take that bicycle?

A. allowance 

B. exception 

C. willingness

D. permission

Question 14. Where can I get a good rate of ________ for my money ?

A. deposit

B. interest

C. capital

D. credit


Question 15.  _____________________ appear, they are really much larger than the Earth.

A. As the small stars



B. The stars as small


C. Despite the small stars  


D. Small as the stars 

Question 16. I felt over while I was riding and my sister had to _______ a doctor.


     A. call on


  B. bring



 C. take



 D. fetch

Question 17. The number of chromosomes in a cell _______ from species to species.

A. varies 

B. vary


 C. varying 

D. to vary

Question 18. It sounds like you let people take advantage of you. _______, you need to learn to be more assertive.

A. Otherwise 

B. If only 

C. What if 

D. If so

Question 19. You _______ out yesterday without a coat. No wonder you caught cold.

A. shouldn’t have gone   B. haven’t gone 

C. hadn’t gone 

D. mustn’t have gone

Question 20. Scientists can’t agree on _______ related to other orders of insects.

A. that fleas are 
B. how fleas are


 C. how are fleas 
D. fleas that are

Question 21. I have English classes _______day - on Mondays, Wednesdays and Fridays.

A. all other

B. each other


 C. every other

D. this and the other

Question 22. British and Australian people share the same language, but in other respects they are as different as__

	      A. cats and dogs
	 B.  chalk and cheese
	          C. salt and pepper
	    D. here and there


Question 23. On the second thought, I believe I will go with you to the theater.
	C. Upon reflection

C.   For this time only
	B. After discussing with my wife
D. For the second time


Question 24. ………….in the atmosphere is the temperature falling below freezing.

	B. Frost is produced

C.  What produces frost    
	B. Frost produces   

D. What is frost produced 


Question 25. So little………….about mathematics that the lecture was completely beyond me.
	      A. I have known
	B. I knew 
	C. do I know         
	D. did I know  


Question 26. A: This grammar test is the hardest one we’ve ever had this semester!

                     B: …………………but I think it’s quite easy. 

	C. I couldn’t agree more.

      C.   You’re right.
	B. I understand what you’re saying.

D. I don’t see in that way.


Question 27. ________ in the diet is especially important for vegetarians.

A. Enough protein is obtained  


B. Obtaining enough protein 

C. They obtain enough protein 


D. By obtaining enough protein 

Question 28. Unless this outbreak of cholera ________rapidly under control, we ________ourselves with an epidemic on our hands.

      A. has brought/could find 


B. is brought/may find 

      C. were brought/would be found    

D. had brought/might have found       

Question 29. Student: "I would like to join the library."



Librarian: “________”

      A. OK. Would you like to fill in this form?
B. OK. This is the form that requires us.

      C. OK. I would like to fill in this form.
D. OK. See if you can join.

Question 30. ________, Sarah Jeweft, a nineteenth- century writer, read widely in her family's extensive library.

A. That she received little education formally 
B. The little formal education that she received  


C. Little formal education that was received by
D. Although she received little formal education  

Question 31. “What a great haircut, Lucy!”
- “………………..”

A. You think so? I think it’s a bit too short

B. It’s my pleasure

C. Oh, yes. That’s right



D. Thanks. It’s very kind of you to do this.

Question 32. . …….., sheep were then used for wool.

A. Having first domesticated for milk production

B. Having been first domesticated for milk production

C. Because they had been first domesticated for milk production

D .Although they had first domesticated for milk production

Question 33. Do you think Ms. Brown will _____________ for Parliament in the next election?

A. sit



B. run

C. walk


D. stand

Question 34. Mike: “Tell me what your dog’s like?”
- Alice: “………………”

A. Very quickly

B. Biscuit and bones
C. Very well , thank you
     D. Big, black and

Question 35. “Would you like me to get a taxi?”

- “……………..”

A. That would be delightful. Thanks
 B. Well, let’s see.



C. Yes, please, if it’s no bother
 
D. Yes, I see.

Question 36. Just keep________on the baby while I cook the supper, will you?

A. a look 


B. a glance 

C. an eye 


D. a care

Question 37. Remember to appreciate what your friends do for you. You shouldn’t take them______________.


A. as a rule


B. as usual

C. out of habit


D. for granted

Question 38. I know his name, but I can’t recall it at the moment. It’s on the tip of ______.

A. tongue


B. brain

C. mind


D. memory

Question 39. John’s mother has more than two ---------- workers under ----------. 

A hundreds/ her 

B hundreds/ hers 
C hundred/ hers 

D hundred/ her

Question 40. John lost the ------------ bicycle he bought last week and his parents were very angry with him because of his carelessness. 

A beautiful Japanese blue new


B beautiful new blue Japanese 

C new beautiful blue Japanese 


D Japanese beautiful new blue 

Question 41. “What instructions did your boss give you?” “He stipulated that everyone ---------- the meeting.” 

A would attend 

B attends 

C attended 


D attend

Question 42. Farmers are at the _______ of the bad weather that can destroy their crop

A. change


B. influence

C. force


D. mercy

Question 43. ___________ members of my family has a share in doing household chores.

A. Each of the 

B. Every

C. All


 
D. None of

Question 44. There is no water on the moon, nor ____________ an atmosphere around it.

A. there is 


B. there is not

C. is there


D. is it  

Question 45. Many plants can grow in water, __________ nutrients are added.



A. as long as




B. besides



C. above all


D. however

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

MODERN FASHION TRENDS

Fashions today are changing faster than ever, influenced by a variety of forces. Clearly, many of these changes are dictated by music-related cultural movements like hip-hop, boy bands, or grunge. The stars of these music genres are idolized, and their clothing choices directly influence the fashion of their fans who wish to imitate them. Another undeniable influence on what fashion is "cool" is technology. Technology that can be worn is now and will become an ever more important part of the "look" of fashionable young people. There are many other trends, among them retro or vintage fashion, and so-called disposable fashion.

The hip-hop revolution of the 1970s and '80s brought a whole new look to our attention, a look for an American city culture that made a statement. Modern hip-hop clothes, however, are often produced by successful, big-name fashion designers, and are quite expensive. In fact, many hiphop artists such as Eminem, Kanye West, and others have their own lines of hip-hop clothing. The essentials of the modern hip-hop look are gold chains, boots or kicks (slang for sneakers), a bandana tied around the head, often with a cap on top, and large T-shirts. The baggy look of decades gone by has been replaced by a look that includes polo shirts and tighter denim jeans.

Another trendy, cutting-edge movement in the world of fashion is technology you wear, and the blending  of technology with clothing. More and more, people are afraid to be without a cell phone, a computer, or Internet access at any time of the day or night. Wearable technology helps people keep those crucial connections to the
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world open, while at the same time giving them a distinctive look. Clip-on MP3 players with headphones, "hands-free" phones and earpieces, and personal digital assistants (PDAs) are just a few of the ever more visible portable technology components that are part of the look. The ultimate in technology-friendly clothing, the solar- powered jacket can now provide the electricity needed to keep all these gadgets running.

The retro or vintage style of clothing brings trends from past decades back into style. Grunge was a style of music born in the Seattle area in the 1990s. Grunge fans stayed away from synthetic fabrics, preferring flannel shirts, stone-washed jeans, and rock T-shirts. They preferred dark colors like greens, dark purples, or browns. For footwear, grunge fans wore Dr. Martens-style shoes and boots or high-top sneakers. Although the grunge music  craze also ended in the '90s, a modern retro fashion trend is taking its cue from grunge-era clothing. Modern grunge fashion is similar in many ways, but it's much less baggy and sloppy than it was in the '90s.

H&M, a chain of Swedish clothing stores, is the name most often connected with the new trend in youth fashion known as disposable fashion. It's clothing so cheap that you don't mind buying it and wearing it only several times, perhaps, before discarding it. Disposable fashion is often brightly colored and stylish, but low in  price. The trend, which reportedly started in Japan, grew popular in Europe, and is taking root in America, shows no signs of slowing down.

What will the future of fashion look like? Well, technology is sure to remain a growing part of fashion, with ever smaller cell phones, computers, PDAs, and other wearable gadgets. All around the world, more people are wearing hip-hop fashions than ever before. No longer exclusive to urban youth or even the United States, hip- hop will remain a popular global fashion for years to come. Retro fashions from the '80s and '90s, including the grunge look, seem to be growing in popularity, and disposable fashion is a big hit that won't end soon. And, I'm sure that we will see new fashion surprises as music, fashion, and technology move forward together into the future.

Question 46: What is the main purpose of the passage?

A. to explain why certain fashions are popular internationally

B. to show the best fashions to wear in order to look "cool"

C. to inform us about current and future fashion trends

D. to explain the history of certain fashion trends

Question 47: Which fashion trend is NOT mentioned in the article?

A. grunge

B. hip-hop

C. retro


D. business casual

Question 48: According to paragraph 2, how has hip-hop changed?

A. Hip-hop clothes are now sold by big-name designers and are less baggy.

B. Boots used to be popular, but now kicks are worn.

C. Hip-hop moved from other countries to the United States.

D. The baggy hip-hop look has replaced tighter jeans and polo shirts.

Question 49 :What trend has been brought back by the retro style?

A. hip-hop
`
B. wearable technology

C. grunge

D. disposable fashion

Question 50:Which fashion trend would most likely be the most popular with someone who didn't have much money to spend?

A. hip-hop

B. wearable technology

C. retro


D. disposable fashion

Question 51: Why might disposable fashion clothes not go well with the grunge look?

A. because disposable fashion is cheap


B. because grunge is from Seattle

C. because disposable fashion is often brightly colored
D. because the grunge music craze ended in the '90s

Question 52: According to paragraph 6, which of the following is a likely future trend?

A. Wearable technology will involve smaller devices.

B. Hip-hop will become exclusive to the United States.

C. Retro fashions will go out of style.

D. Disposable fashions will increase in price.

Question 53: What does the pronoun ‘them’  refer to?

A. Fans 


B. choices


 C. genres 

 D. stars

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer for each of the blanks

Along (54) ___jogging and swimming, cycling is one of the best all-round forms of exercise. It can help to increase your strength and energy, giving you more (55)____ muscles and stronger heart. But increasing your strength is not the only advantage of cycling. Because you are not (56)______the weight of your body on your feet. It is a good form of exercise for people with painful feet or backs. However, with all forms of exercise, it is important to (57)___slowly and build up gently. Doing too much too quickly can damage muscles that are not (58) ____ to working. If you have any doubts about taking (59) ____cycling for health reasons, talk to your doctor and ask his or her advice.

   
Ideally you should be cycling at (60) _____ two or three times a week. For the exercise to be doing you (61) __, you should get a little out of breath. Don’t worry that if you begin to lose your breath, it could be dangerous and there must be something wrong with your heart. This is simply not true, shortness of breath (62) _____that the exercise is having the right effect. However, if you find you are in pain, (63) ___ you should stop and take a rest. 

Question 54. 
A. on


B. at 


C. by


D. with

Question 55. 
A. confident

B. efficient

C. better

D. reliable

Question 56.   A. bringing

B. carrying

C. lifting

D. arising

Question 57. 
A. make

B. take


C. start


D. do

Question 58. 
A. have

B. ought

C. used

D. made

Question 59.
A. in


B. up


C. out


D. on

Question 60. 
A. best


B. all


C. least


D. times 

Question 61.
A. good

B. well


C. nice


D. fine

Question 62. 
A. tells


B. shows

C. points

D. appears

Question 63.  
A. then


B. though

C. even

D. yet

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to each of the following question.

Question 64. I am sure he badly needed the money.

A. He badly needed the money was sure to me.



B. He is sure badly needed the money.


C. He must have badly been in need of the money. 


D. He could have badly needed the money.

Question 65. The noise next door didn’t stop until midnight.


A. It was not until midnight that the noise next door stopped.


B. Not until midnight did the noise next door stopped.


C. Only when midnight did the noise next door stopped.


D. Hardly had the noise next door stopped than it was midnight.

Question 66. He can shout even louder, but I won’t take any notice.


A. However loud he can shout, but I won’t take any notice.


B. No matter how loud he can shout, I won’t take any notice.


C. He can shout even louder won’t take any of my notice.


D. Whatever ability he shout won’t take notice of me.

Question 67. Everyone expected her to win the tournament, but she didn’t.



A. Unlike everyone expected, she didn’t win the tournament



B. Everyone was unexpected when she won the tournament.



C. Contrary to everyone’s expectation, she lost the tournament.



D. To everyone’s expectation, she won the tournament.

Question 68. I won’t sell the painting, no matter how much you offer me.

A. Whenever you offer me to buy the painting, I won’t sell it.


B. How many money you offer me, I won’t sell the painting.


C. Whatever price you offer me, I won’t sell the painting.


D. In spite of your offering me how much money, but I won’t sell the painting.

Question 69. It wouldn’t be a waste of time to look at that house again.


A. You shouldn’t waste your time to look at that house again.


B. Did you find that look at that house again was a waste of time ?


C. It was worth looking at that house again.


D. Would we consider to look at that house again ? 

Question 70. Anyone who misses more than fifty percent of the classes deserves to fail.

E. More than fifty percent is too much for one class.

F. Fifty percent of the classes have failed the exams.

G. People who fail must make up fifty percent of the class work.

H. These who are absent more than half the time should fail. 

Question 71. She’s bound to see Harry at the meeting.

C. She’s obliged to see Harry at the meeting. 

C. She’s on her way to see Harry at the meeting.

D. It’s certain that she will see Harry at the meeting. 
D. She’s too busy to see Harry at the meeting.

Question 72: I expect you were fully satisfied with the results by the end of the display.


A. By the end of the display you must have been fully satisfied.


B. You must be completely satisfied with the results by the end of the display.


C. By the end of the display you must have been quite happy.


D. You were fully satisfied when the display came to an end.

Question 73: I couldn’t concentrate fully because of the noise from the machine.

A. The machine was so noisy, that made me unable to concentrate fully.

B. The noise made machine stopped me to concentrate fully.

C. The noise machine prevented my concentrate fully.

D. The noise from the machine made it hard for me to concentrate fully.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions

ENDANGERED ANIMAL SUCCESS STORIES

In 2006, the United States government declared May 11 to be Endangered Species Day. This day was created to encourage people to raise their awareness and understanding of the problem of endangered species. Indeed, the government has shown itself to be a true friend of endangered species. In 1973, the United States government passed into law the Endangered Species Act. Its three major goals were as follows: to protect plants and animals from extinction by listing them as endangered; to preserve the habitat of these species; and to help populations of listed species recover. Today, we celebrate dozens of success stories of animals brought back from near extinction. Here are three such success stories.

It is fitting that we begin with the story of the bald eagle, the national symbol of the United States. Before the arrival of the Europeans in North America, it is estimated that the population of bald eagles in the United States, excluding Alaska, was about 100,000 birds. By 1963, the population had dropped to less than  1,000 individuals-an appalling trend. Hunting was certainly a major factor in this decline, as was the destruction of habitat, but another factor was a chemical used in the control of insects, DDT. It had a strange effect on the

eagles' eggs. It made their shells very thin so that they broke easily, and the baby birds inside were frail.

The single most important factor in the recovery of the bald eagle was a 1972 ban on DDT. Being listed as an endangered species gave the birds additional protection. Bald eagle populations are now carefully watched, 20 and baby eagles are raised under human protection to be later released into the wild. Thanks to these efforts, the number of eagles in the United States, excluding Alaska, has grown to about 14,000.

Another classic symbol of North American wildlife is the grizzly gear. In the era before the Europeans arrived, more than 50,000 grizzlies wandered the American West. Today that number is closer to 1,000. Because grizzly bears have babies at a very slow rate, it takes many years for the population to grow. 

Most of the grizzly bears in the United States, excluding Alaska, live in the protection of Yellowstone and Glacier National Parks. Hunting them has been completely outlawed. As bear populations grow, it becomes very important to prevent encounters between humans and bears: 20 to 40 bears are killed each year in such encounters. Garbage management is an important factor in keeping bears away from humans.

In the Florida Keys, a chain of islands off the coast of Florida, there lives a small population of tiny deer  called Key deer. They once lived on a number of islands, but they have gradually been limited to mainly one. The Key deer very nearly died out-at one point there were only 25 remaining. In the past, hunting was a big problem. Recently, deer are rarely killed intentionally, but exploitation of their island's land for homes, roads, and tourism has destroyed much of their habitat. Automobiles also kill a number of deer each year.

The Key deer was one of the first animals to be listed as endangered. In 1957, a sanctuary was created for  the deer. There, a staff conducts health checks on them. Thanks to these efforts, their population has returned to about 500.

We hope that the government continues to be on the side of endangered species. Each unique species enriches our environment and is certainly worth protecting. By protecting endangered species, we also express our respect for the place in which we live. At the same time, we present a gift of great value to future generations of people.

Question 74: What was the author's main purpose in writing this passage?

A. to celebrate government successes in helping endangered animals

B. to instruct people in the United States about how to save animals

C. to point out the causes of animal endangerment

D. to encourage people to send money to help animals

Question 75: What is NOT mentioned in the passage as a goal of the Endangered Species Act?

A. listing animals and plants as endangered

B. preserving plant and animal habitat

C. assisting endangered species populations to grow

D. creating national parks

Question 76: What was the single most destructive factor for bald eagle populations?

A. hunting




B. loss of habitat



C. the use of DDT



D. the naturally slow rate of producing baby eagles

Question 77: According to the passage, for which animal is garbage management important?

A. the bald eagle

B. the grizzly bear

C. the Key deer


D. all of the above

Question 78: According to the passage, what kills a number of Key deer each year?

A. grizzly bears


B. bald eagles

C. DDT


D. cars

Question 79: What is today's population of Key deer?

A. about 25


B. about 500


C. about 1,000


D. about 14,000

Question 80: According to the passage, why is it important to protect endangered species?

A. They enrich our environment.



B. It shows our respect for our environment.

C. We can leave a gift for future people.


D. all of the above 
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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions.

Question 1: Last year she earned _______ her brother.

A. twice as much as
B. twice more than
C. twice as many as

D. twice as more as 

Question 2: Little ______ he know how much suffering he has caused.


A. didn’t

B. should

C. won’t


D. does 

Question 3: The politician tried to arouse the crowd, but most of them were ________ to his arguments.

A. closed

B. indifferent

C. careless 


D. dead 

Question 4: 
- Can you take the day off tomorrow?



- Well, I’ll have to get _________ from my boss.


A. permission

B. licence 

C. allowance 


D. permit  

Question 5: I do not believe that this preposterous scheme is _____ of our serious consideration.


A. worthy

B. worth

C. worthwhile


D. worthless  
Question 6: __________ the fifth largest among the nine planets that make up our solar system.


A. The Earth being 
B. The Earth is   
C. That the Earth is 

D. Being the Earth  

Question 7: 
Mike: “I have passed all my examinations !”



Joan: “_________”


A. My dear!

B. Best wishes!

C. Well done!


D. That’s very well! 

Question 8: Very often the chocolate inside is not as exciting as its ________.

A. coat


B. paper

C. cover


D. wrapper 

Question 9: I’ve been ______ advised not to say anything. 

A. seriously

B. greatly

C. strongly


D. significantly  

Question 10: Dr. Evans has _________ a valuable contribution to the life of the school.


A. done 

B. created 

C. caused 


D. made  

Question 11: No matter _______, Mozart was an accomplished composer while still a child.

A. how it seems remarkable 


B. how remarkable it seems

C. it seems remarkable how  


D. how seems it remarkable 

Question 12: You may borrow as many books as you like, provided you show them to ___ is at the desk.

A. whoever

B. who


C. whom 


D. which  

Question 13: It was difficult to guess what her ________ to the news would be.

A. feelings

B. reaction 

C. capital 


D. opinion 

Question 14: ________ some countries have ruined their agriculture, squandering money on uneconomic factories, the Ivory Coast has stuck to what it is good at.


A. After

B. During 

C. When 


D. While 

Question 15: 
Harry:  “May I smoke?”



Kate: “________”


A. What suits you?
B. You are free

C. Accommodate yourself!
D. Go ahead!
Question 16: _________ perhaps the most awe inspiring among the great structures of the world.


A. The Great Wall of China


B. The Great Wall of China is




C. That he Great Wall of China is

D. The Great Wall of China which is 

Question 17: We need ________ information before we can decide.


A. further

B. farther

C. far



D. furthest

Question 18: Sportsmen __________ their political differences on the sports field.

A. take part

B. put aside

C. take place 


D. keep apart  

Question 19: _______ is to forget all about it.


A. At best you can do



B. The best thing you can do 




C. What best you can do 


D. You can do the best 

Question 20: 
Maria: “Can I borrow your umbrella for a day?”



Ann: “___________”


A. With pleasure
B. Ready

C. Welcome


D. Yes, I can
Question 21: ________ long thought to have no bones, small amounts of bone were recently found at the bases of the teeth in some species.


A. Although sharks were


B. Despite sharks being




C. In spite of sharks are



D. Nevertheless, sharks
Question 22: Such a judge _________ retire from his job before the retirement age.


A. as well as

B. may as well

C. so as to


D. as much as

Question 23: 
Sue: “I’ve got a new grammar book.”

 

Robert: “____________”


A. What its price?
B. How many cost?
C. How much was it?

D. How much you paid? 

Question 24: When she __________ her mistake, she apologized.


A. realized

B. realize

C. was realizing 

D. has realized
Question 25: _______ daily promotes physical as well as emotional well-being in people of all ages.


A. Having exercised



B. Those who exercise




C. For exercising



D. Exercising

Question 26: As it was very hot in summer, sales of bottles of water went _______ the roof.


A. through

B. to 


C. above 


D. over  

Question 27: If only he _______ accept some help with the work instead of trying to do it alone!


A. will


B. would

C. may 



D. were  

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is closest in meaning to the underlined part in each of the following questions.

Question 28: He was asked to account for his presence at the scene of crime.


A. complain 

B. exchange

C. explain 


D. arrange  

Question 29: The teacher gave some suggestions on what could come out for the examination.

A. effects

B. symptoms

C. hints 


D. demonstrations  

Question 30: I’ll take the new job whose salary is fantastic.

A. reasonable

B. acceptable

C. pretty high


D. wonderful  

Mark the letter A, B, C, or D on you answer sheet to indicate the sentence that is closest in meaning to each of the following questions.

Question 31: “I was not there at the time,” he said.

A. He denied to have been there at the time.

B. He denied that he had not been there at the time.


C. He denied to be there at the time.


D. He denied having been there at the time.

Question 32: “Let’s go out for a walk now,” he suggested.


A. He suggested going out for a walk then.

B. He suggested to go out for a walk then.


C. He suggested them to go out for a walk then.
D.  He suggested them going out for a walk then.

Question 33: “I am sorry, Jean. I broke your bicycle,” said John.


A. John apologized Jean for breaking her bicycle.



B. John apologized Jean for having broken her bicycle.




C. John apologized to Jean to have broken her bicycle.




D. John apologized to Jean for having broken her bicycle. 

Question 34: “I would like you not to go out with him, Ann” says her mother.

A. Ann’s mother would rather she doesn’t go out with him.




B. Ann’s mother would rather her not to go out with him.




C. Ann’s mother would rather she didn’t go out with him.




D. Ann’s mother would rather she wouldn’t go out with him.  

Question 35: “You broke my glasses,” said the woman to me. 


A. The woman blames me of breaking her glasses. 


B. The woman blamed me of breaking her glasses. 




C. The woman blames me for having broken her glasses. 




D. The woman blamed me for having broken her glasses.  

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

Question 36: 
A. disaster

B. encounter 

C. determine 

D. consonant  
Question 37: 
A. referee

B. agriculture 

C. personality 

D. mathematics  

Question 38: 
A. weather

B. animal 

C. human 

D. canteen  

Question 39: 
A. gallery

B. satellite 

C. different 

D. cathedral  

Question 40: 
A. familiar

B. redundant 

C. customary 

D. reluctant  

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction in each of the following questions.

Question 41: It is important that you turned off the heater every morning before you leave for class.

                       A                                           B                                                   C                   D
Question 42: The children had such difficult time when they began school in their new neighbourhood that their

                                                                A                                   B



parents decided never to move again.

                                          C         D  

Question 43: Those who had already purchased tickets were instructed to go to gate first immediately.

                           A                          B                                                                               C             D

Question 44: The lion has long been a symbol of strength, power, and it is very cruel.

                        A                  B            C                                                            D
Question 45: Nobody had known before the presentation that Sue and her sister will receive 

                                             A                    B                                                                    C          



the awards for outstanding scholarships.

 
 
 D
Mark the letter A, B, C, or D on you answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.

Question 46: He is very intelligent. He can solve all the problems in no time.


A. So intelligent is he that he can solve all the problems in no time.



B. He is very intelligent that he can solve all the problems in no time.




C. An intelligent student is he that he can solve all the problems in no time.




D. So intelligent a student is he that he can solve all the problems in no time.


Question 47: We cut down many forests. The Earth becomes hot.


A. The more forests we cut down, the hotter the Earth becomes.



B. The more we cut down forests, the hotter the Earth becomes.


C. The more forests we cut down, the Earth becomes hotter.




D. The more we cut down forests, the Earth becomes hotter.


Question 48: You don’t try to work hard. You will fail in the exam.


A. Unless you don’t try to work hard, you will fail in the exam.



B. Unless you try to work hard, you won’t fail in the exam.




C. Unless you try to work hard, you will fail in the exam.





D. Unless do you try to work hard, you will fail in the exam.

Question 49: The coffee was not strong. It didn’t keep us awake.

A. The coffee was very strong, but it couldn’t keep us awake.



B. We were kept awake because the coffee was strong. 



C. The coffee was not strong enough to keep us awake.




D. The coffee was so hot that it didn’t keep us awake.

Question 50: He didn’t take his father’s advice. That’s why he is out of work.


A. If he had taken his father’s advice, he would not have been out of work.



B. If he took his father’s advice, he would not be out of work.




C. If he had taken his father’s advice, he would not be out of work.





D. If he takes his father’s advice, he will not be out of work.


Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions, from 51 to 60.


Accustomed though we are to speaking of the films made before 1927 as "silent", the film has never been, in the full sense of the word, silent. From the very beginning, music was regarded as an indispensable accompaniment; when the Lumiere films were shown at the first public film exhibition in the United States in February 1896, they were accompanied by piano improvisations on popular tunes. At first, the music played bore no special relationship to the films; an accompaniment of any kind was sufficient. Within a very short time, however, the incongruity of playing lively music to a solemn film became apparent, and film pianists began to take some care in matching their pieces to the mood of the film.


As movie theaters grew in number and importance, a violinist, and perhaps a cellist, would be added to the pianist in certain cases, and in the larger movie theaters small orchestras were formed. For a number of years the selection of music for each film program rested entirely in the hands of the conductor or leader of the orchestra, and very often the principal qualification for holding such a position was not skill or taste so much as the ownership of a large personal library of musical pieces. Since the conductor seldom saw the films until the night before they were to be shown (if, indeed, the conductor was lucky enough to see them then), the musical arrangement was normally improvised in the greatest hurry.


To help meet this difficulty, film distributing companies started the practice of publishing suggestions for musical accompaniments. In 1909, for example, the Edison Company began issuing with their films such indications of mood as "pleasant', "sad", "lively". The suggestions became more explicit, and so emerged the musical cue sheet containing indications of mood, the titles of suitable pieces of music, and precise directions to show where one piece led into the next.


Certain films had music especially composed for them. The most famous of these early special scores was that composed and arranged for D. W. Griffith's film Birth of a Nation, which was released in 1915.

Question 51: The passage mainly discusses music that was​​​​​​​ ____________.

A. performed before the showing of a film 
B. played during silent films 


C. recorded during film exhibitions

D. specifically composed for certain movie theaters

Question 52: What can be inferred that the passage about the majority of films made after 1927?


A. They were truly "silent".


B. They were accompanied by symphonic orchestras.

C. They incorporated the sound of the actors' voices.

D. They corresponded to specific musical compositions.

Question 53: It can be inferred that orchestra conductors who worked in movie theaters needed to ________.



A. be able to play many instruments

B. have pleasant voices


C. be familiar with a wide variety of music
D. be able to compose original music
Question 54: The word "them" in paragraph 2 refers to _________.

A. years
 
B. hands

C. pieces

D. films
Question 55: According to the passage, what kind of business was the Edison Company?


A. It produced electricity.


B. It distributed films.


C. It published musical arrangements.

D. It made musical instruments.

Question 56: It may be inferred from the passage that the first musical cue sheets appeared around _________. 



A. 1896


B. 1909


C. 1915


D. 1927

Question 57: Which of the following notations is most likely to have been included on a musical cue sheet of the early 1900's?


A. "Calm, peaceful"
B. "Piano, violin"
C. "Key of C major"
D. "Directed by D. W. Griffith"

Question 58: The word "composed" in paragraph 4 is closest in meaning to __________.


A. selected

B. combined

C. played

D. created

Question 59: The word "scores" in paragraph 4 most likely mean ____________.

A. totals

B. successes

C. groups of musicians
D. musical compositions

Question 60: The passage probably continues with a discussion of ____________.


A. other films directed by D. W. Griffith 
B. famous composers of the early twentieth century


C. silent films by other directors


D. the music in Birth of a Nation

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct word for each of the blanks, from 61 to 70.

NEIGHBORS INFLUENCE BUYING DECISIONS


However objective we believe ourselves to be, most of us do not judge a product solely on its merits, considering quality, value and style before making a decision. (61)________, we are easily influenced by the people around us.


There is nothing (62)___________ with this. It is probably a smarter way to make decisions than (63)________ on only our own opinions. But it does make life hard for companies. They have long understood that groups of friends and relatives tend to buy the same products, but understanding the reasons has been tricky. It is because they are so similar with (64)_______ to how much money they make and what television ads they watch that they independently (65)________ at the same decision? Or do they copy one another, perhaps (66)______ envy or perhaps because they have shared information about the products?


Research in Finland recently found overwhelming evidence that neighbours have a big influence on buying decisions. When one of a person’s ten nearest neighbours bought a car, the chances that that person would buy a car of the same brand during the next week and a half (67)__________ by 86 per cent. The researchers argued that it was not just a (68)_________ of envy. Used cars seemed to attract neighbours even more than new cars. This suggested that people were not trying to (69)_______ up with their neighbours, they were keen to learn from them. Since used cars are less reliable, a recommendation of one can (70)________influence a buying decision. 

Question 61: 
A. What’s more
B. Instead

C. Unlike 

D. In place  

Question 62: 
A. wrong

B. silly


C. bad 


D. daft  
Question 63: 
A. basing

B. trusting

C. supposing 

D. relying  

Question 64: 
A. connection 

B. regard 

C. relation 

D. concern  
Question 65: 
A. reach

B. come 

C. arrive 

D. get  
Question 66: 
A. for


B. as to 

C. out of 

D. about  
Question 67: 
A. boosted

B. rose 

C. enlarged 

D. lifted  

Question 68: 
A. thing

B. point 

C. matter 

D. fact  

Question 69: 
A. keep

B. stay 

C. hold

D. follow  

Question 70: 
A. fiercely

B. strongly 

C. firmly 

D. intensely  

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions, from 71 to 80.


Glass is a remarkable substance made from the simplest raw materials. It can be colored or colorless, monochrome or polychrome, transparent, translucent, or opaque. It is lightweight impermeable to liquids, readily cleaned and reused, durable yet fragile, and often very beautiful Glass can be decorated in multiple ways and its optical properties are exceptional. In all its myriad forms - as table ware, containers, in architecture and design - glass represents a major achievement in the history of technological developments.


Since the Bronze Age about 3,000 B.C., glass has been used for making various kinds of objects. It was first made from a mixture of silica, line and an alkali such as soda or potash, and these remained the basic ingredients of glass until the development of lead glass in the seventeenth century. When heated, the mixture becomes soft and malleable and can be formed by various techniques into a vast array of shapes and sizes. The homogeneous mass thus formed by melting then cools to create glass, but in contrast to most materials formed in this way (metals, for instance), glass lacks the crystalline structure normally associated with solids, and instead retains the random molecular structure of a liquid. In effect, as molten glass cools, it progressively stiffens until rigid, but does so without setting up a network of interlocking crystals customarily associated with that process. This is why glass shatters so easily when dealt a blow. Why glass deteriorates over time, especially when exposed to moisture, and why glassware must be slowly reheated and uniformly cooled after manufacture to release internal stresses induced by uneven cooling.


Another unusual feature of glass is the manner in which its viscosity changes as it turns from a cold substance into a hot, ductile liquid. Unlike metals that flow or "freeze" at specific temperatures glass progressively softens as the temperature rises, going through varying stages of malleability until it flows like a thick syrup. Each stage of malleability allows the glass to be manipulated into various forms, by different techniques, and if suddenly cooled the object retains the shape achieved at that point. Glass is thus amenable to a greater number of heat-forming techniques than most other materials.

Question 71: Why does the author list the characteristics of glass in paragraph 1?


A. To demonstrate how glass evolved

B. To show the versatility of glass


C. To explain glassmaking technology

D. To explain the purpose of each component of glass

Question 72: The word "durable"' in paragraph 1 is closest in meaning to______.


A. lasting

B. delicate

C. heavy


D.  plain

Question 73: What does the author imply about the raw materials used to make glass?


A. They were the same for centuries.

B. They are liquid.



C. They are transparent.


D. They are very heavy.

Question 74: According to the passage, how is glass that has cooled and become rigid different from most other rigid substances?


A. It has an interlocking crystal network.
B. It has an unusually low melting temperature.

C. It has varying physical properties.

D. It has a random molecular structure.

Question 75: The word "customarily" in paragraph 2 could best be replaced by “______”.


A. naturally

B. necessarily

C. usually


D. certainly

Question 76: The words "exposed to" in paragraph 2 most likely mean ______.


A. hardened by
B. chilled with

C. subjected to

D. deprived of

Question 77: What must be done to release the internal stresses that build up in glass products during manufacture?


A. The glass must be reheated and evenly cooled. 


B. The glass must be cooled quickly.



C. The glass must be kept moist until cooled.
 
D. The glass must be shaped to its desired form immediately

Question 78: The word "induced" in paragraph 2 is closest in meaning to_______.


A. joined

B. missed

C. caused


D.  lost

Question 79: The word "it" in paragraph 3 refers to________.


A. feature

B. glass

C. manner


D. viscosity

Question 80: According to the passage, why can glass be more easily shaped into specific forms than can metals


A. It resists breaking when heated

B. It has better optical properties.

C. It retains heat while its viscosity changes.
D. It gradually becomes softer as its temperature rises.

---------- THE END ----------
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